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TENSES

I. Put the verbs in brackets into the correct tense: present simple or
present continuous.

Leila Markham is an environmentalist. She is being interviewed on the
radio by Tony Hunt, a journalist.

T: So tell me, Leila, why is it important to save the rainforests?

L: There are a number of reasons. One is that many plants which could be
useful in medicine (1: to grow) in the rainforests. We (2: not to know) all
the plants yet — there are thousands and thousands of them. Researchers
(3: to try) to discover their secrets before they are destroyed.

T: I see. What other reasons are there?

L: Well, I’'m sure you’ve heard of global warming?

T: You mean, the idea that the world (4: to get) warmer?

L: That’s right. The rainforests (5: to have) an important effect on the
carth’s climate. They (6: to disappear) at a terrifying rate and soon they
will be gone. People (7: not to do) enough to save them.

T: But is global warming really such a problem? I (8: to enjoy) warm
sunshine.

L: Well, what (9: to happen) when you (10: to heat) ice?

T: It (11: to melt) of course.

L: OK. The polar ice caps (12: to consist) of millions of tons of ice. If they
(13: to melt), the level of the sea will rise and cause terrible floods. Many
scientists (14: to believe) that temperatures (15: already to rise). We must
do everything we can to prevent global warming, and that (16: to include)
preserving the rainforests!

T: Thank you, Leila, and good luck in your campaign.

L: Thank you.

I1. Choose the correct verb form: past simple or past continuous.

Thomas Edison started / was starting work on the railway when he was
twelve, selling newspapers and snacks. There were long periods with
nothing for him to do so he built / was building himself a little laboratory
in the luggage van where he could carry out experiments when he didn'’t
sell / wasn't selling things to passengers. Another way that he occupied /
was occupying himself was by reading. He joined a library and read / was
reading every single book in it. One day, when he waited / was waiting at
a station he noticed / was noticing a small boy who played / was playing
by the track, unaware that a train approached / was approaching. Edison



ran / was running out and grabbed / was grabbing the child just in time.
The child’s father was so grateful that he offered / was offering to teach
Edison to be a telegraph operator. Edison accepted the offer and soon he
had / was having regular lessons. After a year, he was good enough to get
a job in the telegraph office. He continued to read and experiment,
whenever he had / was having time. At twenty-one he left / was leaving
the telegraph office to devote all his time to being an inventor. He went /
was going on to invent an electric light bulb, the phonograph and the
movie camera.

II1. Decide whether these sentences are right or wrong.

1.
2.
3.

WX NN B

The coffee is smelling wonderful.

Last year we visited the States.

The reason I get fat is that I’'m always tasting things while I'm
cooking.

How’s Jennifer? Does her health improve?

You’re quite right, I'm completely agreeing with you.

What did you after you left school?

Now I understand what you’re trying to say!

I can’t imagine why you were believing all those rumours.

Martin looked forward to a peaceful weekend, when his brother
arrived with all his friends from the football club.

10.0Oh, I'm sorry, I’ve spilt some tea. Where are you keeping the paper

towels?

1V. Translate the sentences into English using present simple, past
simple, present continuous, or past continuous .

M

SO

MpI cefiuac npITacMCst PEIUTH ATy MPOOJIEMY.

B nacrosiimee Bpems OH NMPEnoaacT MareMaTUKY B IIKOJIE.

B 9 yacos Beuepa Mbl OOBIYHO CMOTPUM HOBOCTH.

B cB00OOIHOE BpEMST OHU JHOOAT UTPaTh B KOMIBIOTEPHBIE UIPHI.
«KoMy Tbl 3BOHUIIB?» «S TMBITAIOCH JIO3BOHUTHCS  CBOEMY
3HAKOMOMY.

[Tponuioii 0CEHbIO MBI pa0OTAIM HAJI HHTEPECHBIM MTPOCKTOM.

Ha BpIXOIHBIE OHA €37UT K pOAUTENISAM B JIOHJIOH.

Kaxpiit roj1 OHY MPOBOUIN OTITYCK HA MODE.

Korna Buepa s urpan B pyT00II, TO MOCKONB3HYJICSA U yIIal.

O MBEI oayMBIBalId O TOM, YTOOBI NIEPEEXaTh HA HOBYKO KBApTHUPY, HO

[NHOTOM HalIHu 1JIaHbl U3MCHUJINCH.



11.0OH BE€YHO CO BCEMM CITOPHT.
12.3aBTpa MBI BCTpPEYAEMCS C MOPECACTABUTEISIMAU  WHOCTPAHHOM

KOMIIaHHH.

13.CocTosiHHE OKPYKAIOMIEH CPEJBI C KAKBIM F0OJI0OM YXYAIIACTC.
14.Bbl uaeTe ¢ HAaMHU B KUHO?
15.BbI ceiiuac mocTymnaeTe Kak SroucT.

V. Make questions (Q) to match the answers (A). Use the correct form of
the past simple or present perfect.

Q: What... Q: Have...

A: Worked on a CD of my paintings. A: Yes, I've added a sound track.
Q: How many... Q: How long ...

A: About a third. A: It's taken me about a week.

Q: What... Q: When ...

A: I destroyed them. A: I started about ten years ago.

Q: How... Q: What...

A: I scanned them in. A: Before I had a computer, I had to
Q: How... use slides.

A: I've organised them into themes. Q: Have...

A: Yes, I've sold a few.

VI. Put the verbs in brackets into the correct tense: present perfect or
past simple.

1.
2.
3.
4.
5.

o0

So far this week there (to be) three burglaries in our street.

I (not to miss) a committee meeting since 1986, so I don’t want to
miss the one today.

A great deal (to happen) since I last spoke to you.

We (to spend) £200 on food this month already.

Maria (to see) the doctor yesterday about that rash she (to have) for
ages Now.

'How long you (to live) in Spain?' "Two years altogether, before
moving to Italy.'

OK. Who (to take) my best pen? It (to be) on my desk thirty seconds
ago.

In the Middle Ages people (not to live) so long as they do now.

Who (to write) William Tell? 1 can never remember if it (to be)
Mozart or Rossini.



10. It's definitely our favourite film, we (to see) it six times.

11. You ever (to steal) apples when you (to be) a kid?

12. Ella (to smoke) forty cigarettes a day for over thirty years. Then she
(to give up) overnight and (not to touch) one since!

VII. Put the verbs in brackets into the correct tense: present perfect,
present perfect continuous, or past simple.

How long you (to run) the hotel for now?

I (to learn) Japanese for about six months now. It's really interesting.

How long you (to live) in Japan before coming back to England?

Rob (to finish) his novel? Oh yes. It just (to be) published.

They (to live) in that same little house since the day they (to get)

married 20 years ago. I don't think they'll move now!

What a fantastic old car! How long you (to have) it?

I see they still (not to repair) that big hole in the road.

The team (not to win) a single match so far this season.

Don't we need some groceries? Don't worry, I (to take) care of that. I

(to do) the shopping on the way home.

10.Maisy (to phone) yet? Yes, about 10 minutes ago. She (to say) she
can't make it tonight.

11.How many of those chocolates you (to eat) so far?

12.Julie (to eat) nothing but 'paella’ during her trip to Spain.

SR =
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VIII. Use the correct tense in the given texts.
1) Put the verbs in brackets into the correct tense: present perfect or past
simple.

Twenty years ago few people (1: to realise) that computers were about to
become part of our daily lives. This short period of time (2: to see)
enormous changes, in business, education and public administration. Jobs
which (3: to take) weeks to complete in the past, are now carried out in
minutes. Clerks who (4: to spend) all day copying and checking
calculations are now freed from these tedious tasks. In offices, the soft
hum and clicking of word processors (5: to replace) the clatter of
typewriters. Schoolchildren (6: to become) as familiar with hardware and
software as their parents (7: to be) with pencils and exercise books.
Computerisation of public records (8: to enable) government departments
to analyse the needs of citizens in detail. Some of us may wonder,
however, whether life really (9: to improve) as a result of these changes.



Many jobs (10: to disappear), for example, when intelligent machines (11:
to take) over the work. Employers complain that clerical staff (12: to
become) dependent on calculators and cannot do simple arithmetic. There
are fears that governments (13: not to do) enough to ensure that personal
information held on computers i1s really kept secret. Certainly, many
people may now be wondering whether the spread of computers (14: to
bring) us as many problems as it (15: to solve).

2) Complete this report about the history of a company. Use one of these
verbs in either the past simple or present perfect:

Strengthen have (x 2) move enable
represent face help grow (x 2)
win expand change go
employ invest start

work take on result

Chairperson's Report

We (1) ........ another excellent year. I would like to thank everyone
for their hard work which (2) ......... in bringing about this success. As you
know, we (3) ......... in 1965 as a small operation producing electrical
components for the car industry. At the time we (4) ......... just 25 people;
that number (5) ......... to the present 1,200. Our turnover was just £50,000,
whereas today it (6) ......... to £35 million.

In those early years conditions were not particularly
comfortable. 1(7) ......... in a tiny office with no heating, and, of course,
in those days we (8) ......... no computers, which make life so much easier
today. We were based in a run-down inner-city area.

Things (9) ......... considerably since we (10) ......... to our current
greenfield site. The early years were particularly difficult. We (11) .........
strong competition from more powerful competitors and on several
occasions we were close to going out of business. The turning point came
in 1974 when we (12) ........ a small government contract to produce
electrical components for aircraft. We (13) ......... more staff and (14) .........
a considerable amount of money in Research and Development and (15)
......... from strength to strength ever since.

In recent years we (16) ........ our product range and (17) ......... our
position in the export market. These changes (18). ........ in the strength of
our current position. The recent deregulation of the markets within the



European Union (19) ......... us to increase our exports to Europe and we
are now in a position to expand our European operations still further. As
far as business with the rest of the world 1s concerned, in the early years
exports to the Far East, for example, (20) ......... less than 1% of our output,
whereas now they represent nearly 15% of our total production.

IX. Decide whether the underlined verbs are used in the correct tense.

1. I was expecting the book to end happily, but in fact it was really sad.

2. The opposition groups were fighting the government on this issue for
years, but so far without success.

3. The protesters have been campaigning for some months now to
prevent the new road being built.

4. He has been looking nervous until I told him to sit down and relax.

. Work to repair the bridge has been continuing throughout this

summer.

6. Before she retrained as a computer programmer she has been working
as a secretary.

7. 1 was receiving the magazine for some time and enjoy reading it
immensely.

8. 1 was turning to leave when she said, ‘Maybe you’d like to stay for
dinner.’

()

X. Put the verbs in brackets into the correct tense: past simple, present
perfect simple or present perfect continuous.

Ever since the day I (1: to decide) to move to London, I (2: to worry)
whether the decision I (3: to take) was the right one. As I (4: already to
sell) my house and (5: to arrange) a new job, it is too late to change my
mind. However, since then I (6: to hear) a lot of negative things about
living in the capital, and lately some of them (7: to begin) to bother me. I
(8: to grow up) in a fairly small town and I (9: to spend) all of my life
there. I (10: always to want) to live in a big city and so when my company
(11: to offer) me a job in their London office, I (12: to grab) at the chance.
But according to a programme I (13: just to hear) on the radio, more and
more people (14: to stop) working in London recently, and a lot of large
companies (15: to choose) to move away from the centre. Of course I (16:
to tell) my parents that I'm moving and they (17: to accept) my decision,
but when I (18: to tell) my friends they (19: to seem) rather shocked. Since



then I (20: to hope) secretly that the company would tell me that the move
was off!

XI. Choose the most appropriate ‘tense’ word or phrase underlined.

WX NN W=

It's a long time since/when I last saw you.

I've seen Bill quite often lately/from time to time.

Have you spoken to the director beforehand/already?

I've lived in the same house for years/for ever.

I've read the paper now/still.

Diana has bought a computer two years ago/since then.

Nothing much has been happening by now/so far.

I've finished reading her new book at last/last evening.

Sue bought a CD player last week and she's been listening to music
ever since/for a while.

10. Sorry, but I haven't got that work finished already/yet.

XII.

Translate the sentences into English paying attention to the

difference in the use of the present perfect and past simple tense.

M

= o

3.
9.

B nociennee BpeMst 1 0 HEM HUYETO HE CIIbIIIAI.

Koraa Bbl IOTOBOPUIKCH BCTPETUTHCA?

A elre He BUAEH 3TOr0 (PuiibMa, HO MHOTO O HEM CJIBIIIIAIL.

Ero ceituac Het B opuce. OH BBIIIEIL.

C Tex Mmop Kak OH yexaJs 3a IpaHully, s HE MOJIydal OT HEr0 HUKAKHUX
U3BECTHUMA.

ThI yrk€ mpourTal 3TOT :KypHaI? MOKHO MHE €ro MOCMOTPETH?

51 moka He MOTY JiaTh BaM TOYHBII OTBET, TAK KaK 5 €IIE HE 0OCY NI
3TO JIEJI0 C MEHELKEPOM (PUPMBI.

S Havas urpath B TEHHUC TPU HEJIEN HA3A/I.

Mel 5k71eM Te0d yKE B TEUEHHE Haca.

10.«Kak mojaro Tel HM3y4aclib aHIIHUCKMIA?» «f Hadyan u3ydarb €ro

IATH JICT HA3a1)».

11.0Onm O6puti B Typuuu y:Ke TpW paza U CoOOMparOTCA Moexarb Tyjia

OITATH.

12. 41 Bcerna xoTes HayuuThCsl UrpaTh HA TUTAPE.
13. Arara Kpuctu Hanucana MHOTO JETEKTUBHBIX POMAHOB.
14.5T0T COBpPEMEHHBINH THCATENIb YK€ W37 HECKOJBKO CBOMX

MPOU3BEACHUA.

15. K10 nzodpen tenedon?

10



16.Y 1e0s ycTaBmmii Bua. Thl B OCIIEAHEE BPEMSI MHOIO padoTa?
17.MBpbI BCeraa >Kujii B 5TOM FOPOJIE U HUKY 1A HE TIEPEE3KaIH.
18.Ceroans ¢ yrpa MAET J0XK/b.

19.4 yxe npouwTtan HHCTPYKUHMM, HO BCE PABHO HE IMOHUMAK), KaK
MOJIB30BATHCS 3TUM (POTOANIAPATOM.

20. TeI koraa-HuOy A ObL1 B [loTnanauu?

21.B nocnenHee BpeMsi B HAIEM TOPOJE MTPOU3OIIIO0 MHOTO MEPEMEH.

22. 4 HOIY OYKH C JIETCTBA.

23.3T0 camblii CMEITHOM aHEKIOT, KOTOPBIH 51 KOrAa-1u00 CbIIal,

2451 ceroaHs NEPBBIA pa3 3a pyJieM.

25.4 ero 3HaKW yxke OYEHBb JABHO. MBI Apy3bs €HIE CO IMKOJBbHBIX
BPEMEH.

26. 51 HUKOTIA HE PA3MCIISLT KX TOUKY 3PEHUS.

27.Koraa st BOEpBBIE NpUEXaA] B ATOT paiioH, 3/1€Ch ObLIO OYE€Hb THXO.
Ho ¢ Tex mop TyT NMOCTPOMIIMA HOBBIN KUJION KOMIUJIEKC, U CTaJIO
OYCHb LTYMHO.

28.1IpuBeTt! JlaBHO T€Os1 HEe BUAE. I 1€ ThI Mpormaaan?

29.1Ipouuio aBa roja, ¢ TeX Mop Kak s €371 34 TPAHULLY.

30. «Y MeHs TOJBKO YTO COCTOSUICS MEPBBIA YPOK IO BOKACHUIO». «Kak
oH npomen? Tebe noHpaBunoch?» «Hy, K cUACThIO, I HUKYJA HE
BPE3AJICA, HO JOMYCKal OYEHbL MHOTO OLIHUOOK.

31.«A TBOI OpaT y»ke BepHyJaca?» «Jla, OH mpuIIes yac Ha3aa U cpazy
MOIIEN B CBOKO KOMHATY».

32.B nponuioM roay s Kynuj HOBYIO MAIIMHY, HO TOKA €II¢ HE MPoaall
CBOIO CTapylo, TAK YTO CEHYAC y MEHS LICNIBIX JIBE MAIIVHBI.

33.Mepu xuBer B AnoHuM y:ke aa roja. OHa tam paboTaer, U €i
OYCHb HPABUTCH.

34.«5l mocTynuil B YHHMBEPCUTET, KOrja MHE OblLIo 17». «A Korjaa Thl
noyiyurst aumiaom?» «Jlummom s eme He mojyuun. S ydych B
YHUBEPCUTETE BCETO 3 TOJa.

35.«Hurae He Mmory HaiTu CBOM mepyarku. Tel ux HE BUAEH?» «ThI ke
UX OCTABUJI BUECPA B MAIIIIHEY.

XIII. Choose the correct verb form: past simple or past perfect.

The conference was very successful. The seminars and talks were /
had been extremely interesting and it was obvious that all the speakers had
prepared / prepared their material very thoroughly. Everyone agreed that

this should be an annual event.
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There were however a number of administrative problems. When we
arrived / had arrived, we discovered / had discovered that the hotel
manager reserved / had reserved the wrong room for us and therefore we
did not have / had not had enough space. Unfortunately, he could not let us
have the larger room because he gave / had given it to another group, even
bigger than ours.

He also misunderstood / had also misunderstood the letter explaining
what food we required / had required. In fact, we suspected / had
suspected that he lost / had lost the letter. We do not recommend using this
hotel again.

XIV. Choose the correct verb form.
1. A: What did you do / have you done / had you done last night?

B: Well, I have hoped / have been hoping / had been hoping to go out, but
I have had /had /had had too much work.

2. A: What part of Birmingham do you live / did you live / have you lived
in when you were/have been/were being a student?

B: A place called Sally Oak. Do you know / Did you know / Have you
known it?

A: Oh, yes. I was passing / used to pass / have passed through it nearly
every day when I was [iving/ have been living/ have lived there.

3. A: Do you write / Have you written / Were you writing to the bank
manager yet?

B: I haven't finished / hadn’t finished / didn’t finish yet. ['ve been trying/
I've tried/ I tried to decide what to say.

A: Hurry up! He is expecting / has expected / has been expecting your
reply since last week.

4. A: Our teacher invites / has invited / invited the class to his house on
Saturday. Do you go / Are you going / Have you gone?

B: I'm afraid not. I work / used to work / am working for my father on
Saturday.

5. A: When did you hear / have you heard / had you heard your exam
results?

12



B: When I had phoned / phoned / have phoned my teacher. She has been
checking / has checked / was checking the list when I had rung / rang / am
ringing, so she was telling/ told/ tells me then.

A: Have you expected / Have you been expecting / Had you been expecting
to do so well?

B: Not really, to be honest!

XV. Decide whether these sentences are right or wrong.

A et e

> N

10.
11.
12.
13.

14.
15.

XVI

There was a power cut while we watched the film on TV last night.
Did you ever get into trouble at school when you were a kid?
Florencia never saw snow until she went to Scotland.

Just how many patients did Dr Harris examine so far this week?
Oh, what a lovely hat! Where have you bought it?

Mr Wolf has worked at the bank for 25 years before his retirement
last May.

I've been writing ten letters this morning - I need a rest!

By the time we got to the theatre the play already started.

How long did you live in Italy for? Three years but then I got
homesick.

I was sitting on the train for ten minutes when I realised I'd left my
suitcase on the platform!

Exactly what were you doing at eleven o'clock yesterday evening,
sir?

When I looked out of the window, I realised it had snowed for hours
and there was no chance of getting back down the mountain.

That's the third time Sam crashed the car this month!

Just think, this time last week we rode a camel in the desert!

Of course it has rained. Look how wet the road is.

Choose the most appropriate verb form to express the future.

. 'Can I speak to Mrs Lillie, please?' 'I'm sorry, she's not at her desk at

the moment.' 'Okay, I/l / I'm going to call back later.' (on the
telephone)

The Taylors are going to go / are going on a cruise around the
Mediterranean to celebrate their 50th wedding anniversary.

The directors are working hard to save the company from
bankruptcy, but it seems unlikely that their efforts will succeed /
succeed.
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If you're sitting comfortably, then /'m going to / I'll begin the story.

Don't forget to unplug the television before you will go /go to bed.

You won't believe this, but Lucy will be having / is having a baby.

There are being / are going to be ten pages of sports news in The

Globe', the new daily newspaper planned by Newsco.

8. 10 Tomorrow ABC television is going to devote/ is devoting almost
the entire day to programmes first broadcast in the 1950s.

9. The firework display, part of the city's centenary celebrations, is
going to takel is taking place on the 21st August in Cannon Park.

10. Excuse me, I think /'m going to / I will sneeze.

11.Kay really likes children, so I'm sure she'll /she's going to be happy
to baby-sit for us.

12.T'll bring the post to you in your office when it arrives / will arrive.

13. The fog is clearing / will clear by mid-morning in most western parts
of the country.

14. Apparently, they're going to / they will build a new by-pass around
the town.

15. The examination will / is going to begin at 10.30. Latecomers will
not/ are not going to be admitted to the examination room.

16. When it's complete, the new sports arena is seating / will seat 50, 000
spectators.

17.The transfer from Athens airport to your hotel takes / is going to take
45 minutes.

18.1°11 be waiting / I wait for you around 2 o'clock outside the station.

19.Next month I will have been knowing / will have known Derek for 20
years.

20.By the time you get home [ will have cleaned / will clean the house

from top to bottom.

N ok

XVIIL. Rewrite each sentence, beginning as shown, so that the meaning
stays the same. Comment on the use of the tense in each case.
1. The last time I was in Prague was in 1986. I haven't ...
2. This will be the team's first match outside England. This will be the
first time ...
3. Terry will get over his illness. Then his work will improve. Once...
4. There will be someone to meet you on arrival. When. ..
5. The number of people who attended the fair exceeded our
expectations. More people ...
6. I didn't receive the results of my test for a month. It was. ..
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7. My work won't be finished by the end of the month. I ...

8. Go to the international ticket desk immediately on arrival. As ...

9. 1 didn't know about John's departure. I didn't know that ...

10.Quite a few books are missing from the class library. Several
members of the class have not...

XVIII. Translate the sentences into English using various tenses.
1. MBpI kak pa3 no0exkaid 10 10Ma, KOrja Hadaiach rpo3a.
2. Sl HUKOIAa HE YWTajl PTOH KHUTH.
3. Tlocne TOro Kak OH 3aBEpIIWJ CBOM JIOKIIAM, €My Hauyaau 3a71aBaThb
BOITPOCHI.
JIoK b €11Ie HE IPEKPATHIICS, KOTAA MbI BBILILJIN HA YJIUILLY.
Buepa st Kynu1 HOBbIE Yachl, TaK KaK MOTEPSI CBOU CTaphIE.
[Toe3n y:ke yexan, koraa s iprObLT HAa CTAHLKIO.
A obenan, koraa pazaancs TeaeOHHbIA 3BOHOK.
51 BO3BpaIaiICcs AOMOM JOBOJIBHO MO3JAHO. CTAHOBUIIOCH YK€ TEMHO
Y 3aMETHO MOX0JIOAANO.
9. S nymaro, 4To OH OYJIET y4aCTBOBATh B 3TOM IMPOEKTE.
10.3aBTpa oH Oy ieT paboTarh BECH JICHD.
11.5 mo3BOHIO BaM, KakK TOJIBKO PaCIlaKytO CBOU BEIIIM.
12.51 noroBopro ¢ HUM 00 ATOM, €CJIM YBIIKY €ro 3aBTpa.
13.Bce yke IryT cnaTth K TOMY BPEMEHHM, KaK Mbl BEPHEMCSL.
14.3akporite okHO. Mumer noxkap, U CTalio O4eHb XOJa0AHO. [lorona
CHUJIbHO M3MEHUWJIACh CO BUEPAITHETO JIHSI.
15.0H He OyaeT aenaTth yCIexXoB A0 TEX IMOp, MOKA HE CTAHET YCEpIHEE
3aHUMATHCS.
16.bb1I0 X00AHO, TaK KAK COJHLE €1IE HE B30ULIO.
17.0n yexan 3a rpanuiy B 1990 roay u ¢ T€X mop >KMBET TaM.
18.41 3Ha10 €ro 7aBHO M MOT'y CKa3aTh, YTO HA HETO MOKHO TMOJIOKUTHCS.
19.4 men yxe 0KoJIO yaca, KOorjaa, HaKOHEL, YBUJIEC MAJICHbKHIM JTOMUK
HEJIATIEKO OT PEKH.
20.MHorye U3 HalMX 3HAKOMBIX CETOJIHA BBICTYMNAIOT C JOKJIAAaMM Ha
KOH(pEepeHIMH.

X NN B

XIX. Complete the sentences below with the correct tense form of the
following verbs:

experience produce (x 2) Sign discuss

suffer run out of reflect offer (x 2)
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reduce pay look at have

accept introduce
Sales Report

. First of all, I was able to offer them a highly competitive price, at

least 5% below the current market average. Secondly, I was able to
offer guarantees as regards both delivery and quality, and, finally, I
(1)....... them the possibility of a flexible deal that (2)....... the
demands of the market.

Another problem has been a lack of flexibility by their suppliers as
regards the fluctuating market for aircraft components. Apparently,
there (3)....... times when they (4)....... raw materials and other times
when they have had a large surplus.

I visited ABC Ltd as part of my marketing trip to a number of
European countries. ABC (5)....... components for aircraft and, as
such, they are particularly interested in the light-weight metal alloys
we (6)....... :

This means that they (7)....... ways of saving money and one way of
doing this 1s clearly to (8)....... expenditure on raw materials. The
prices they (9)....... at the moment for these materials are rather

higher than are justified in the current market.

Needless to say, they were extremely happy with these terms and 1
am confident that they (10)....... them and (11)....... a contract within
the next few weeks.

On arrival T (12)....... to the Managing Director and, after a brief
discussion with him, I (13)....... a meeting with the Purchasing
Manager and his senior staff. We (14)....... the needs of their
company in some detail and also looked at their present suppliers.

In response to all of this, I was able to (15)....... them an improved
deal in all of these areas.

Apart from the high prices, they are also dissatisfied with the service
offered by their current suppliers. They (16)....... a number of
problems with deliveries and also with the quality of some of the
materials supplied.

They are unhappy with their present suppliers for several reasons.
First, of course, there is the question of price. The aircraft industry in
general (17).....a downturn in business and component
manufacturers are obviously badly affected by this situation.

Now rearrange the paragraphs to make a complete report.

3
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XX. Put the verbs into the correct tense.

1) Dear Sir,
I (1: to write) to you three weeks ago, asking about conditions of entry into
your college. You (2: to reply), enclosing an enrolment form, which I (3:
to fill up) without delay. Since then, however, I (4: to hear) nothing and 1
(5: to begin) to wonder if my application (6: to go) astray.
Could you please check that you (7: to receive) it and if you haven’t,
please send me another enrolment form. If, on the other hand, you (8: to
receive) my application but (9: not to decide) whether to accept me as a
student or not, I (10: to be) very grateful if you (11: to tell) me when I may
expect to hear your decision. Finally, if my application has already been
refused, I (12: to like) to be informed as soon as possible because if I do
not get into your college I (13: to have) to apply to another and the sooner
I (14: to do) this, the better chance I (15: to have) of being accepted.

Yours faithfully,

P. Smith.

2) Ian McBain (1: to write) for many years before he (2: to come) to fame
with his second novel in 1993. Since then he (3: to write) more than
twenty thrillers translated into more than thirty languages. If his latest
novel, Dead Body, (4: to reach) the top of the fiction charts, he (5: to have)
a record number of best-selling thrillers. When I (6: to meet) him last
week, he (7: just to complete) an exhausting tour of the country. I (8: to
ask) Ian why he (9: to think) his novels (10: to be) so successful. T wish I
(11: to know),' he said, 'but I (12: not to suppose) that any writer ever
really (13: to know) how the public will react to a novel. Most of us (14: to
write) stories for ourselves, and often we don't even know how the novel
(15: toend).

XXI. Verb Tense Test

a) Put the verbs in brackets into the correct tense.

1. Listen, Donna, I don't care if you (to miss) the bus this morning.
You (to be) late to work too many times. You are fired!

2. I am sick of rain and bad weather! Hopefully, when we (to wake) up
tomorrow morning, the sun (to shine).

3. Sam (to try) to change a light bulb when he (to slip) and (to fall) .
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4. If you (to need) to contact me sometime next week, I (to stay) at the

Sheraton in San Francisco.

You look really great! You (to exercise) at the fitness centre?

6. We were late because we had some car problems. By the time we
(to get) to the train station, Susan (to wait) for us for more than two
hours.

7. 1 (to work) for this company for more than thirty years, and I intend
to stay here until I retire!

8. The Maya established a very advanced civilization in the jungles of
the Yucatan; however, their culture virtually (to disappear) by the
time Europeans first (to arrive) in the New World.

9. 1 (to see) many pictures of the pyramids before I went to Egypt.
Pictures of the monuments are very misleading. The pyramids are
actually quite small.

10. In the last hundred years, travelling (to become) much easier and
very comfortable. In the 19th century, it (to take) two or three
months to cross North America by covered wagon. The trip (to be)
very rough and often dangerous. Things (to change) a great deal in
the last hundred and fifty years. Now you can fly from New York to
Los Angeles in a matter of hours.

11. Joseph's English really (to improve), isn't it? He (to watch)
American television programs and (to study) his grammar every day
since he first arrived in San Diego. Soon he will be totally fluent.

el

b) Answer the questions.

12.

Jane talks on the phone.

Bob has been talking on the
phone for an hour.

Mary is talking on the phone.
Who is not necessarily on the
phone now?

13.

Jane is talking in class.

Bob always talks in class.
Mary is always talking in class.
Whose action bothers you?

18

14.

Jane left when Tim arrived.
Bob left when Tim had arrived.
Tim arrived when Mary was
leaving.
John had
arrived.
After Tim arrived, Frank left.
Who did not run into Tim?

left when Tim

15.
Jane never left Jamestown.

Bob has never left Jamestown.
Who is still alive?



THE PASSIVE VOICE

I. Turn these sentences from active into passive.

O 0NN LA W~

10.
11.
12.
13.
14.
15.
16.
17.
18.

19.
20.

Scientists are making wonderful discoveries.

They told me an interesting story yesterday.

They offered him a cup of tea.

They pay him regularly.

They gave him an invitation card to the party.

They showed him the way to the station.

I must do it at once.

You can use this material for your work.

We couldn’t finish the work in time.

You may leave the dictionaries on the table.

We have to do this work every day.

People are destroying large areas of forest every day.

People expect better results soon.

Somebody has bought the land next to our house.

Somebody had already reported the accident before I phoned.
Somebody will tell you when you should go in to see the doctor.
No doubt somebody will blame me for the problem.

They have found an unexploded bomb in Herbert Square, and they
are evacuating the area.

They have transferred the money to my bank account.

They will not announce the findings until next week.

I1. Describe the operation of the new speed trap by converting each of
these statements to the present passive.

1.
2.
3
4.
5.

The first unit records the time each vehicle passes.
It i1dentifies each vehicle by its number plates using OCR (optical
character reader/recognition) software.

. It relays the information to the second unit.

The second unit also records the time each vehicle passes.

The microprocessor calculates the time taken to travel between the
units.

It relays the registration numbers of speeding vehicles to police
headquarters.

A computer matches each vehicle with the DVLC (Driver Vehicle
Licensing Center) database.
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3.

It prints off a letter to the vehicle owners using mailmerge.

III. Sequence these steps in the operation of an EPOS (electronic point
of sale) till. Then write a description of its operation in the present
passive.

1.
2.

NN W

The scanner converts the barcode into electrical pulses.

The branch computer sends the price and description of the product
to the EPOS till.

The scanner reads the barcode.

The branch computer records the sale of the product.

The till shows the item and price.

The checkout operator scans the item.

The scanner sends the pulses to the branch computer.

The till prints the item and price on the paper receipt.

The branch computer searches the stock file for a product
matching the barcode EAN (European Article Numbering).

1V. Put the verbs into the correct tense form using the passive voice.

1.

&

A

~

3.
9.

I am sure that this work (to complete) by the end of the month.

Some new magazines just (to bring). Would you like to look them
through?

I can’t show you my written work as it (to return) by my teacher.
Many new houses (to build) in our town lately.

The goods not (to examine) yet at the Customs.

This question which (to discuss) now at the conference is very
important.

This bridge (to build) long ago.

Important scientific work (to carry out) by this research centre.

The documents not (to sign) yet by the manager. They (to check)
now.

10. She (to frighten) by a loud noise in the street.
11.My watch (to make) of steel.
12. These books (to sell) everywhere.

V. Use the following verbs in the correct passive form.

refer
build

use bring give invent write call beat

20



Why does nothing exist?

Did nothing always exist or (1) ....... it ... ? 'Nothing” 1s zero or nought
‘0°. It 1s a very useful idea and it (2) ....... by many different names. In
football, 0 (3) ....... to as ‘nil'. So we say: 'Liverpool (4) ....... two-nil (2-0)
at home by Manchester United." When you (5) ....... marks in a test, you
hope you will never get ‘nought’ out of ten or twenty. When we talk about
the temperature, ‘zero” (6) ....... . We say: ‘It’s freezing today; the
temperature has dropped to five below zero.” The most unusual name for 0
must be that which (7) ....... in tennis, ‘love’; where the scoring goes 15-
love, 30-love and so on. Not many people realize that O did not always
exist but is something that had (8) ....... . Until the sixteenth century, the
number system used in Europe was the Roman system, which was
invented about two thousand years ago. The Roman system is not simple,
for example the mark 'X' stands for ten and 'C refers to a hundred. A much
better number system (9) ....... by the Hindus much earlier. The Hindu
system (10) ....... to Europe in AD 900 by the Arabs and is sometimes
referred to as the 'Arabic system'. This system (11) ....... on a base of ten
and all numbers (12) ....... with the digits: 1, 2, 3,4, 5,6,7, 8,9 and 0. So
as all schoolchildren know, 10 means ‘ten” and 40 means 'four times ten'.

VI. Put the words in the correct order to form passive sentences about e-
mail.
1. messages quickly is to send e-mail and efficiently used
via messages sent modem are a
anyone messages be system sent to compatible with a can
multi-national is e-mail used by often companies
this saved of time 1s in lot way a
improved e-mail communication by efficiency been has introducing

A

VIIL. Decide whether these sentences are right or wrong.

1. My neighbour is very proud of her new grandson who born last

week.

2. I’'m very fond of this old brooch because it was belonged to my
grandmother.
My family live in Scotland but I was educated in Wales.
I’m afraid I can’t lend you my camera. It’s repairing this week.
The bridge was collapsed during the floods but fortunately no one
was using it the time.

N W
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6. If you aren’t careful what you are doing with that hammer, someone
will hurt in a minute!

The word ‘stupid’ was in my report but it wasn’t referred you.

I’m sorry I’m late. I got held up in the traffic.

When did you discover that the money had been disappeared?

O Children under the age of seven do not allow in this pool.

el

VIII. Translate the sentences into English using the passive voice.
1. DTta cTaTes ObliIa HEIABHO MEPEBEACHA HA PYCCKUH S3BIK.

B kakoM rogy ObLIO MOCTPOECHO 3TO 31aHuE?

Korpa OyeT n3nana sta KHura?

Koraa nomkeH o0CyKaaTbcs 3TOT BOMPOC?

B Xxoae MaHHOrO WCCIEAOBAHUS OBLIM TOJYYEHBI HMHTEPECHBIE

PE3YNBTATHI.

DOTO 3a/IaHUE HENB3S BHIMOIHUTH 34 OJIMH JICHb.

Bce (pmHaHCOBBIE TOKYMEHTBI MO AMUCHIBAIOTCS AUPEKTOPOM (PUPMBI.

MHg ele HAYEro HE TOBOPUIIA 00 3TOM.

9. Wm npeanoxkuim OUIETH HA KOHLEPT, HO OHU OTKA3aJIUCh.

10. Ham nmoka3zaim, Kak MoJib30BaThCsl HOBOM TEXHHUKOM.

11.Ym panu Heneno Ha MOArOTOBKY K KOH(PEPEHLIHH.

12.11oce BBICTYIUICHHUST €MY 3a1aBaJIM MHOTO BOIIPOCOB.

13.Bam yke nokassiBajid 3TOT HUiIbM?

14.2TH KHUTHA JOJKHBI OBITh MPOYUTAHBI B ’TOM CEMECTPE.

15.00 3T0i1 KHMUIe MHOTO TOBOPSIT.

16.3Ta 3aaa4a MOKET OBITh PEIIEHA HECKOJBKUM CHOCOOAMM.

17.He 3akppiBaiiTe OKHO. ET0O TOJBKO UTO OTKPBLIH.

18.Kak 104aro u3aacTcst 3ToT KypHas?

19.B sT0oM roay ObLIO NOCTPOEHO MHOT'O HOBBIX JJOMOB.

20. Ecnu MmHe npeanoxar 3Ty padoTy, 51, KOHEYHO, COrJIallycCh.

21.1'ne mpoaar0TCa KHUTH HA HHOCTPAHHOM SI3BIKE?

22.51 He XO04y MOKa3blBaTh BaM CBOK) CTaThlOo, MOKAa OHA HE OyJeT

3aKOHYEHA.

23.3T0 3a1aH1E JOJKHO OBITh CIEJIAHO CETOJIHSI.

24.Koraa OyaeT npoBOAUTLCA COOpaHue?

25.3a4eM HYKHO 3aIOJIHATH OTY aHKETY?

26.Ty KOHTPOJIbHYIO HEJB3S MEPENUCHIBATH BTOPOM pas.

27.HaMm He pa3pemuad HU4ero TporaTth B 1a00paTOpHH.

28.2Ty KOMHaATy HEJaBHO YOHUpaJId, TaK YTO 3JI€Ch OUEHb YMCTO.

29.Kak n3mepsaeTcst Cuiia 3eMJIETPACEHUsA?

AN T

o A
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30.Koraa OblT OTKPBIT 3TOT 3aKOH?
IX. Put in the correct forms, active or passive, of the verbs in brackets.

1) De Weck's famous painting, Lady Caroline, (1: to destroy) by fire. It
was one of many great works that (2: to consume) in the blaze that (3: to
break out) at the National Museum early yesterday morning. It (4: to
believe) that the fire (5: to start) by an electrical fault in the museum's
heating system. Only two days ago, museum curator Walter Sickheart (6:
to announce) that the work (7: to restore) in time for next year's De Weck
centenary exhibition. Now, in all probability, the show (8: to cancel). 'It's
sad,' said Sickheart. 'We really (9: to look) forward to next year's
exhibition. T wish we (10: to tell) that some of the museum's electrical
wiring (11: to need) replacing.! A rescue operation (12: to begin) at the
museum as soon as the fire brigade (13: to put out) the fire. Hundreds of
volunteers (14: to bring in) to help. 'T think I (15: to retire) by the time
everything (16: to get) back to normal,' said Sickheart.

2) Various theories for the Moon's origin (1: to propose). At the end of the
19th century the English astronomer Sir George H. Darwin (2: to advance)
a hypothesis that (3: to attract) considerable attention for decades. On the
basis of the mathematical theory of solar tides, Darwin (4: to suggest) that
the Moon (5: to be) originally part of the Earth but (6: to break) away by
tidal action and (7: to recede) from the planet. In 1930 Sir Harold Jeffreys
cogently (8: to demonstrate) that such a process (to be) highly improbable.
Another popular theory of lunar genesis that (9: to arise) during the 1950s
(10: to postulate) that the Moon (11: to form) elsewhere in the solar system
and was then later (12: to capture) by the Earth. The basic assumptions on
which this 1dea (13: to ground) have since been found to be physically
implausible and so the theory (14: to dismiss). The coaccretion hypothesis
(15: to suggest) that the Earth and Moon (16: to form) at the same time
from a primordial cloud; this theory cannot account for the large angular
momentum of the Earth-Moon system as it (17: to revolve) around the
Sun, however.

Today, most investigators favour an explanation known as the giant-
impact hypothesis. According to this theory, a Mars-sized body (18: to
strike) the proto-Earth early in the history of the solar system. As a result,
a cloud of fragments (19: to eject) into orbit around the Earth, and these
later (20: to accrete) into the Moon. Prior to the collision, both bodies (21:
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to differentiate) into a metallic core and a silicate-rich mantle, so that the
¢jected matter (i.e., the proto-Moon) was predominantly silicates while the
metallic cores (to coalesce) in the Earth.

THE REPORTED SPEECH and THE SEQUENCE OF TENSES

I. Turn the following sentences from direct into indirect speech (use the
constructions with said that, told me, asked me, wondered, etc.)

I’m planning to buy a new car.

I’ve never worked so hard before.

I don’t want anything to eat.

The problem is being dealt with by the manager.
Jim is arriving later today.

I was sure I"d left my dictionary here.
You’re putting on a lot of weight.

Have you seen John recently?

Will you be coming to the concert or not?
10 What’s the weather like?

11.How can I solve this problem?

12.How long have you both been living here?
13. Which of you is waiting to see me next?
14. Whose composition haven’t we heard yet?
15. Which number can be divided by three?
16.Did you see the accident?

17.Do you want to insure your luggage or not?
18. When shall I know the result of the test?
19.1 don’t know the way. Do you?

20.1’m going shopping. Can I get you anything?
21.You must start this work at once.

22.1’ve conducted a number of tests.

23.Shall I fax the information to them?

24. Where shall we have our meeting?
25.Don’t go into my study.

26.Don’t wait for me.

27.Never do that again.

28.Don’t ever enter this room.

O 0NN LA W~
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I1. Turn these sentences from indirect into direct speech.

X NN B DN =

9.

He asked if we were enjoying ourselves.

She wondered whether I had seen John recently.

They were iterested if Ted and Alice would be at the party.

He asked how he could solve that problem.

We asked how long they both had been living there.

He said that he had to start working at once.

We told them not to enter our room without permission.

He said that he was going shopping and asked us if we needed
anything.

They explained that the problem was being dealt by the manager at
that time.

10. He asked when we would go to the country the next day.
11.He told me that I might use his notes.
12.He wanted to know the results of the test.

II1. Decide whether these sentences are right or wrong.

1.

2.

When I asked Joan about her work she said she had lost her job and
is short of money.

Michael explained that he couldn’t come to the party because he was
working that evening.

. We had a great evening with Janet. She was telling about her

fascinating trip to Kenya.
I’m sorry to bother you, but you did say to call if I was worried.

. We were disappointed when the receptionist told that the hotel was

fully booked that week.
The museum guard asked the visitors to not touch the exhibits.

. The tour guide explained that the castle is only open on Tuesdays.

1V. Choose the most suitable word underlined.

L=

The government spokesperson denied/refused that there was a crisis.
Jane said me/told me there was nothing the matter.

Peter persuaded me/insisted me to stay for dinner.

The director of studies advised me/suggested me to spend more time
in the library.
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5. Sheila explained me/warned me not to leave the heater on all night.

6. The chairperson mentioned us/reminded us that time was extremely
short.

7. Bill answered them/replied them with a detailed description of his
plans.

8. Michael and Sarah announced/reported that they were going to get
married.

9. Paul accepted/expected that he had made a mistake, and apologised.
10. The manager confirmed/reassured that our room had been reserved.

V. Match each report 1) to 10) with the actual words spoken from a) to j).

1. Jim admitted that he might have taken it.
2. Sue denied that she had taken it.

3. Harry doubted whether he had taken it.
4. Diana explained that she had taken it.

5. Bill insisted he had taken it.

6. Mary suggested that she had taken it.

7. Ted confirmed that he had taken it.

8. Ruth claimed that she had taken it.

9. Charles repeated that he had taken it.

10. Sally reassured us that she had taken it.

a) No, I've definitely taken it.

b) I don't think I took it.

¢) Don't worry, I've taken it. It's all right!

d) What about me? Perhaps I took it?

¢) OK, perhaps I did take it after all.

f) Yes, I took it. I took it, I tell you!

g) Yes, that's quite correct. I took it.

h) No, I certainly didn't take it, I can assure you.
1) You may not believe me, but actually I took it.
1) You see, it's like this. I've taken it.

VI. Rewrite each sentence in indirect speech beginning as shown.

1. 'T wouldn't cook the fish for too long, Bill, if I were you,' said Jean.
Jean advised ...
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3.

9.

'Helen, would you like to come to lunch on Sunday?' said Mary.
Mary ...

'Well, in the end I think I'll take the brown pair,” said the customer.
The customer finally ...

'Me? No, I didn't take Sue's calculator,” said Bob. Bob denied ...
'Don't forget to buy some milk, Andy,” said Clare. Clare reminded ...
'Look, I might not be able to come on Saturday,' said David. David
told us ...

'Why don't you go and see 'The Sound of Music' again, Brian?' |
said. I suggested ...

'No, you really must stay the night, Sophia,” Ann said. Ann insisted

'Make sure you don't take the A20 in the rush hour, Tim,' said Jack.
Jack warned ...

10.'You are not allowed to smoke in your room, Dick,' said his mother.

Dick's mother ...

VII. Rearrange each sentence so that it contains the word in brackets,
and so that the meaning stays the same.

1.

He was warned by the fireman not to re-enter the house (HIM).

2. There has been a rumour that the president is ill (IT).

3.

4.
5.

6.

Sue thought it would be a good idea for me to see a doctor
(ADVISED).

The minister proposed regular meetings for the committee (MEET).
The management claimed that all strikers had returned to work
(WAS).

The travel agent recommended our staying near the airport
(SHOULD).

7. There has been no report that any lives were lost (IT).
8.
0.
1

Jack demanded action from the police (SHOULD).
David supposed that we didn't want to watch television (WANTED).

0. My bank manager invited me to visit him at home (COULD).

VIII. Complete these conversations using the words given.

1.

2.

A: Do you know (football boots)?
B: In your sports bag, I expect.
A: Can you tell me (this jacket)?
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B: £59.99.
3. A: I"d like to know (books about Russia)?
B: They’re on the third shelf, beside the window.
4. A: Do you happen to know (the last bus)?
B: I think it leaves at half past ten.
5. A: Could you explain (this coffee machine)?
B: It’s quite simple. You put a coin here and press the red knob.
6. A: I can’t understand (the car)?
B: You’ve run out of petrol, that’s why!
7. A: Please could you tell me (the manager’s office)?
B: It’s on the first floor, at the end of the corridor.
8. A: Do you know (the first Olympic Games)?
B: 776 BC.
9. A: 1 can’t remember (your sister)?
B: She was 17 last March.

IX. Translate the sentences into English paying attention to the rules of

the reported speech.

OH cKa3zajl, 4TO BEpPHETCS OYEHD CKOPO.

51 ObL1 YBEPEH, UTO OHM OYAyT pajibl HAC BUJETb.

51 wyBCTBOBAJI, UTO OHU HA MEHSA CEPISATCS.

41 He 3Han, 3a4eM eMy Hy>kHa ObL1a 3Ta uHpopMarusl.

51 OBL7 YBEPEH, UTO OH 3aHSAT, U MTO3TOMY HE CTaJl €I0 TPEBOKHUTS.

OH cKa3ajl MHE, YTO BUC] MX HAaKaHYHE.

MHE He MOHATHO, MOYEMY OH TakK ceOsl MOBEJ.

S nymait, 4Tto OH KACT MEHSI B OUOIMOTEKE.

MpbI NOUHTEPECOBAIMCH Y HEro, COOMpAcTCs JIM OH MOeXaTh B

DKCIE AULHIO.

10. 4 cipocuit, CMOXKET JIM OH HABECTUTH HAC.

11. MBI OTBETHIIN, YTO HAYETO HE 3HAIU 00 U3MEHEHUAX B PACTIUCAHUH.

12.Ero cnipocuiy, 4To OH IyMaeT O NOJUTHYECCKONW CUTYallud B CTPAHE.

13.OHU He cKazaiu, Korjaa cooOuparoTcs oexarh 3a FopojI.

14.00 He cooOmun, OyAeT AW OH TMPUHAMATh Y4YacTUE B HTOM
MEPOTIPUSITHH.

15.OHM OTBETHIIM, YTO YKE JABHO pa3padaThIBatOT 3TOT MPOEKT.

16.0OH cka3aji, 4To OHM OOCYIAT 3TOT BOIMPOC, KaK TOJBKO BEPHETCS MX
Ha4YaJIbHUK.

WX NN W=
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17.MHe OBbIJI0O MHTEPECHO, Y3HAIO JIM 51 KOTJa-HUOYAb, YTO MPOU3OIILIO0
Ha cCaMoM JIEJIE.

18. 41 cipocui, Korja oHU COOUParOTCs B OTIYCK.

19. OH cka3zaj1, 4yTo 3aiIeT KO MHE, €CJIM Y HEro OyAE€T BpEMSI.

20. 51 nouHTEpECOBAJICS, CKOJIBKO JIET OH padoTaeT B 3TOM cdepe.

21.MBpbI NBITANUCH BBISICHUTD, TJIE OH CEMYAC MPOKUBACT.

22.0OHHU COOOIIUIH, YTO YK€ OTIPABUIIA HAM KaTajior MPOJyKLHH.

23.0OH cKa3aJl, 4To yKe cnaj, KOrja OHU BEPHYJIMCh.

24. 51 6osiics, 4TO OH OYIET HEJOBOJICH, €CJIU 51 HE MPUIY BOBPEMSI.

25.4 3na1, 4TO OHM MOJAINMCAIN JIOTOBOP HA NPOILUION HEJETE.

26.51 ObLT yAMBIEH, YTO Bbl HE CKa3alM WM, YTO COOHMpAETECh
NEPEE3Karh.

27.0Ha 00571aCh, YTO BBl CKAKETE, UTO HE CMOXKETE NTOMOYb €.

28.Mbl HaANOMHWJIM MM, 4YTO OHM JIOJDKHBI IPUATH 3aBTpa poBHO B 10
yrpa.

29.0OH COMHEBAJICS, CTOUT JIK UM TOBOPUTH 00 3TOM WJIU HET.

30.OH cnpocuJ, 3a4eM HaM Hy»kHa OblIa 5Ta HHPOopMaLys.

QUESTIONS

I. Make questions out of the following words and match the answers
below with these questions.

1. here are on business you?

2. line business what are in you of?

3. do do exactly you what?

4. long you have doing been that how?

5. you did what do that before?

6. travelling much involve does job the?

7. you your do spend of whereabouts time most?
8. wvisit first London this is to your?
9. you arrive did when?
10. here for long you are how?

a. A couple of days ago.

b. Oh, everywhere really, but especially the EU countries.
c. No, I've been here several times before.

d. Quite a lot — especially in Europe.
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I work for a pharmaceuticals company.

Oh, for about 5 years now, I suppose.

[’m staying until next Friday.

I worked for another pharmaceuticals company in the Sales
Department.

I’m in charge of the Sales and Marketing Department.

Yes, I’'m here to meet some clients.

I1. Complete the sentences with ‘who’, ‘which’, or ‘what’.

|
2
3
4
3.
6.
7
8
9
|

‘... are Paul’s parents?” ‘The couple near the door.’
...living person do you most admire?

‘... are Tom’s parents?” ‘“They’re both teachers.’
...of them broke the window?

...one of you 1s Mr. Jones?

...else knew of the existence of the plans?

...1s to blame for wasting so much public money?
...knows what will happen next?

. ...of the countries voted against sanctions?
0.1 know that Judy is an accountant, but ... is her sister Nancy?

III. Put the questions to the underlined words in following statements
and/or ask general questions.

1.

Dreams have always interested scientists. (+ general)

2. Of the many theories of dreams, Freud is probably the best known.

(+ general)

The court of Louis XTIV of France provided an excellent example of a
very highly developed system of etiquette.

Rules of etiquette may prevent embarrassment and even serious
disputes.

The living things in an ecosystem affect each other in many ways. (+
general)

Scientists began to try making synthetic diamonds towards the end of
the eighteenth century.

You have probably heard about the alchemists who for centuries
tried to turn plain lead or iron into gold.

Running water, glaciers, the wind, the waves and currents of the seas,
heat and cold. and plants have all been working together for millions
of years changing the face of the earth.
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9. Breaking up the rocks by chemical action goes on underground as
well as on the surface of the earth. (+ general)

10.Sometimes winds move in violent storms which do a great deal of
damage and so strong that they are terrifying.

11. Thunderstorms happen when hot, damp air rises from the ground and
meets cold air.

12. Tornadoes do a vast amount of damage, even though they seldom
last for more than an hour or two.

13. The speed of the whirling air makes quite small things such as grains
of sand into dangerous weapons.

14.In the early years of the last century there was little specialization in
surgery. (+ general)

15.0ne of the most revolutionary areas of modern surgery is that of
organ transplants.

16.Computer printers are commonly divided into two general classes
according to the way they produce images on paper: impact and
nonimpact.

17.Various theories for the Moon’s origin have been proposed.
(general).

18. There are 24 teams competing in the tournament (general).

19. There comes a time in everyone’s life when a big decision has to be
taken (general).

20. There isn’t much time left (general).

21.There was something strange about the way he smiled. (general)

22.There have been rumours the finance minister is going to resign.
(general)

23.There seemed to be some difficulty in fixing the date for the meeting.
(general)

24.Never has there been such a terrible disaster. (general)

1V. Decide whether these sentences are right or wrong.

Have you ever been to Thailand?

What means this word?

How much costs it to fly to Australia from here?

We can’t remember where did we put our passports.

Had the play already started when you got to the theatre?

Now, come and sit down. Would you like to explain what is the
problem?

7. How long did it take you to get here?

SA ANl e
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8. Now I understand why didn’t you tell me about your job!
9. Excuse me. Can you tell me where the dictionaries are?
10. Why people in your country don’t show more respect to the elderly?

V. Study this conversation between a doctor and a patient and suggest
corrections to the questions where necessary.

D: Good morning, Mr Lewis, (1) How I can help you?

P: Hello, Doctor. The side of my face is swollen and I've got an itchy rash
on it.

D: Hmm. (2) When it did first appear?

P: 1 suppose about a week ago now.

D: (3) Have not you been to see me before about this?

P: Yes, that's right. About six months ago.

D: I gave you some ointment then, I think. (4) What did happen to the rash
when you put it on?

P: It cleared up after a month or so. But it’s come back again.

D: I see. (5) Are there any animals in your house? (6) Have you a cat, for
example?

P: Well I take care of my neighbour’s cat when she is away. She’s away at
the moment, in fact.

D: (7) And were you looking after it when you last had the rash?

P: Yes, I was, actually.

D: It may be that you're allergic to it.

P: (8) So what do you advise what I do about it?

D: Well, first, try to avoid the cat. (9) When your neighbour will be back?
P: Not until next month.

D: (10) Isn't there nobody you could ask to look after it during that time?
P: Well, there's another person in the street who might do it, I suppose.

D: Fine. I'm also going to prescribe two medicines; a cream and some
tablets.

P: (11) What of them should I use first?

D: Use them at the same time.

P: (12) How are the tablets for?

D: The tablets should reduce the swelling and the cream should clear up
the rash.

P: (13) How long it is likely to be before the rash clears up?

D: If it hasn't gone in two weeks, come back and see me.

P: Thank you, Doctor.
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VI. Study this description of a student’s first term. What questions might
the interviewer have asked to obtain the information in italics?

In her first term Pauline studied 6 subjects (1). She had classes on four
days (2) each week. On Monday morning she had IT and Information
Systems (3). Tuesday (4) was a free day for home study. On Wednesday
she had Systems Analysis in Room 324 (5). She studied Computer
Architecture (6) on Thursdays. Programming (7) happened on Friday
mornings. Communication took place once a week (8) on Friday
afternoons. She liked Mr Blunt's classes (9) most. She had a 15-minute
coffee break each day and a lunch break from 12.00 to 1.00 (10).

MODAL VERBS

1. Supply modal verbs of possibility (deduction) and obligation: ‘must
be’, ‘can’t be’, ‘mustn’t be’.

1. The meeting is at 10 o’clock sharp and you ....... late.

2. You....... at the station ten minutes before the departure of the train.

3. The children ....... tired already! We’ve only been walking for ten
minutes.

4. The children ....... thirsty. They haven’t had a drink for hours.

Did you hear that? It ....... someone walking about in our garden.

I don’t recognise the handwriting on this envelope. It ....... from

anyone we know.

7. Your handwriting ....... clear, otherwise no one will be able to read it.

8. You....... a nuisance when you’re a guest in someone’s house.

9

1

SAIN

. Don’t panic! We ....... late for the train. It doesn’t leave till 10.05.
0.We ....... late for the train or we’ll miss our connection.

I1. Supply modal verbs of possibility (deduction) and obligation: ‘must
have been’, ‘can’t have been’, ‘have to/had to (be)’, ‘didn’t have to (be)’.

1. Vera....... at the supermarket this morning. I didn’t see her there.
2. John ....... at the bank till 10, so he only arrived here five minutes
ago.
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When ....... she ....... at the hospital? Early this morning.
We had enough foreign currency left at the end of the holiday, so 1
....... buy any more.

. Monica knew exactly whatto do. I ....... tell her twice.

5
6. There ....... an accident on South Street because the road is closed off.
7.
8
9.
1

You....... waiting too long. After all, I’'m only five minutes late.

. I'left a message on your answer phone last night. You ....... out.

The fire alarm went and we ....... out of the building in two minutes.

0.There are so many nice things for tea, I think you ....... expecting us.

II1. Choose the correct form of the modal verb and specify its modality.

1.

That mustn’t/can’t be true. 1 don’t believe you.

2. There can’t/may not be enough room for everybody on the bus —

X NN B

9.

we’ll have to wait and see.

You have to/must visit us when you are in London. It’ll be great to
see each other again.

In this country, boys don’t have to/must not do military service.

You mustn’t/ don’t have to drink alcohol when you drive.

You mustn’t/ don’t have to play golf well to enjoy it.

At what age can/may you get a driving licence?

It can/could be possible one day to detect disease simply by looking
at people’s eyes.

If Jerry hadn’t grabbed my arm, I may/might have fallen from the
bridge.

10. Our car broke down and we must have got/had to get a taxi.

1V. Complete the sentences with the modal verbs below:

must (have) / mustn’t might (have)

have (had) to / don’t (didn’t) have to  can’t (have)

may (have) / may not (have) should (have) / shouldn’t (have)

NNk LW =

We (to win), but I don’t think there’s much chance.
You (to get) in without a ticket — not a chance.
You absolutely (to go) and (to see) Liz.

You (to pass) a special exam to be a teacher.

He’s not answering the phone. He (to get) home yet.
Castles in the Middle Ages (to be) cold places.

Poor people 500 years ago (to have) easy lives.
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8. ‘How are the builders getting on?” ‘They (to finish) by now. I'll go
and see.’

9. ‘Annisn’t here.” ‘Surely she (to forget) — I reminded her yesterday.’

10. The garden is all wet. It (to rain) in the night.

11.“Who phoned?” ‘She didn’t give her name. It (to be) Lucy.’

12.He (to spend) all his money. I gave him £100 only yesterday!

13.1 (to find) a new job. I'll know for certain tomorrow.

14. The car’s got a big dent in the side. Bernie (to have) an accident.

15. They’re not at home. They (to go) away for the weekend.

16.“We went to Dublin for the weekend.” “That (to be) a nice change.’

17.You (to kill) somebody, driving like that.

18.1t’s his fault she left him: he (to be) nicer to her.

19.“We got lost in the mountains.” ‘You fools — you (to take) a map.’

20.1t’s a good thing they got him to the hospital in time. He (to die).

21.You (to tell) me you were bringing your friends to dinner!

22.Campers (to play) music after 10 p.m.

23. British subjects (to get) visas to travel in Western Europe.

24.1t’s rained a lot, so we (to water) the garden.

25. A soldier (to obey) orders.

V. Use the verbs in brackets in a suitable form with the modal verb of
obligation or possibility (deduction).

1. ‘I’ve finished my work.” ‘But you were only half way through when
I went to bed. You (to work) all night!”

2. Jack (to forget) that we invited him. He is rather forgetful. I (to
phone) him yesterday to remind him. (7t was foolish of me not to
phone).

3. You (not to feed) the bears in the zoo! (It was foolish of you to feed
them).

4. ‘Nobody has been in the house for a month.” ‘Nonsense! Here’s last
Monday’s paper in the wastepaper basket; somebody (to be) here
quite recently.’

5. ‘He says that when walking across Kensington Gardens he was
attacked by wolves.” ‘He (not to attack) by wolves. There aren’t any
wolves in Kensington. He (to see) some Alsatian dogs and (to think)
they were wolves.’

6. ‘I left my car here under the No Parking sign; and now it’s gone. It
(to steal)!” ‘Not necessarily. The police (to drive) it away.’
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7. ‘He had two bottles of Coke and got frightfully drunk.” ‘He (to get)
drunk on Coke. He (to drink) gin with it.’

8. ‘I’ve lost one of my gloves!” ‘The puppy (to take) it. I saw him
running by just now with something in his mouth. It (to be) your
glove.’

9. ‘Why didn’t you wait for me yesterday?’ ‘I waited five minutes.’
‘You (to wait) a little longer!”

10. Why are you so late? You (to be) here two hours ago!

11.Fortunately that teapot didn’t hit anyone, but you (not to throw) it out
of the window! You (to kill) someone.

12.‘1 wonder how the fire started. ‘Oh, someone (to drop) a lighted
cigarette. Or it (to be) an electrical fault.’

13.°I bought a sweater at Marks and Spencer’s last Sunday.” ‘You (to
buy) it on Sunday. Marks and Spencer’s is shut on Sundays.’

14.“Tom’s had another accident. He came out of the side of the road
rather fast and a lorry crashed into him.” ‘It sounds like Tom’s fault.
He (to wait) till the main road was clear.’

15.‘1 wonder who carried the piano upstairs. I suppose it was Paul.’
‘Paul (not to carry) it by himself. Someone (to help) him.’

VI. Fill in the gaps with the correct forms of these verbs: ‘need’, ‘have
to’, ‘must’, ‘can’, ‘could’, ‘be able to’. In some cases, more than one
answer Is possible.

1. After the success of Windows 95, Microsoft ........... outsell any
competitor.

2. Computer consultants ........... specialise in too narrow a field.

3. Programmers ........... to know a range of up-to-date languages.

4. To be a successful consultant, you ........... be better than the
competition.

5. Before IBM set the standards for PCs, software houses ...........
write different versions of their programmes for every make of the

computer.

6. When he was a schoolboy, Bill Gates ........... write programmes in
BASIC.

7. Support engineers must ........... empathise with users.

8. The Altair 8800 was one of the first computers you ...........
assemble at home.

9. Most website designers ........... use HTML and XML.

10. You ........... learn COBOL unless you want to work with business
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software.

VII. Choose the correct variant of the modal structure.

1. I'm not really sure where Beverly is. She in the
living room, or perhaps she's in the backyard.

a) might sit b) might be sitting ¢) might have sat

2. Doug the video we rented on his way to work. It
was on the table, but now it's gone.

a) must have returned b) must not have returned ¢) must return
3. You the air pressure in your tires. You don't want
to get a flat tire on your trip.

a) ought to be checking b) ought to check ¢) ought to checked

4. The computer i1sn't working. It during production.
a) can be damaged b) should have been damaged c¢) must have been damaged
5. The package tomorrow afternoon. It was sent by

express mail this morning.
a) should be delivered b) should have been delivered c) should be delivering

6. You the tickets for the play in advance - they sell
out quickly.
a) have to book b) has to book ¢) have to be booked

7. You can't mean that! You

a) must joke b) could be joking ¢) must be joking

8. If Debbie hasn't come home yet, she for us in the
coffee shop.

a) must still wait b) must still be waiting c¢) must still have waited

9. Mike decided not to join us for lunch. He at work
to finish the marketing report.

a) should have been staying b) had to stay ¢)should have stayed
10. If T had gone with my friends to Jamaica, I on a

white sand beach right now.
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a) would be lying b) would lie ¢) would have lain

11. If T had gone with my friends to Jamaica, I

come to work this week.
a) would not b) would have had to ¢) shouldn’t

12. If T had gone with my friends to Jamaica, I

scuba diving lessons.
a) might be taken b) ought to be taking ¢) could have taken

13. Margaret agreed to meet us at the entrance to the theatre. She

for us when we get there.
a) ought to be waiting b) ought to wait ¢) ought to have waited

14. It Sam who called and didn't leave a message on
the answering machine. He said he wanted to get together with us this
weekend.

a) ought to be b) might have been ¢) should have been
15. The machine on by flipping this switch.

a) can turn b) can be turned ¢) can be turning

16. She . That could have been why her eyes were
so red and swollen.

a) has to be crying b) could be crying c¢) might have been crying
17. If she was crying, she very upset.

a) must have been b) shall be ¢) would have been

18. That painting by Picasso. It could be a forgery.
a) might be painting b) might not paint c¢) might not have been painted

19. Your diving equipment regularly if you want to

keep it in good condition.
a) must be cleaned b) must have been cleaned  ¢) must have been being cleaned

20. If T hadn't taken a taxi, I for you at the train

station for hours.
a) might have been waiting b) ought to have been waiting c¢) had to have waited

38



VIII. Translate the sentences into English using modal verbs.
1. B ux noacuerax HaBepHsKa Obljla Kakas-HUOY b OIHUOKaA.

Bbl HE TOJGKHBI KYpUTH B 0(uce.

Ham npuinaock uenblid 4ac mpoKaarh €ro Ha yJIULIE.

He mMokeT ObITh, 4TOOBI OH 3a0bL1 IIPO 3TO MEPOIPHUSITHE.

Bawm He crnenoBaio pa3roBapyuBarb ¢ HUIM B TAKOM TOHE.

B03M0KHO, OH 3a€/IET K HAM Hac 3aBTpa.

S npocTO YBEPEH, UTO OH HE MOT HAC TAK MOJIBECTH.

OH Mor Obl CUJILHO MOCTPaAaTh B aBapvM, HO €ro CHACIM MOy KA

0€30MacHOCTH.

9. Koraa HaMm HyHO OyJET MPUATH HA coOOpaHue?

10. TebGe cneayet ObITh 00J1€€ BHUMATEIIBHBIM K JIFOISIM.

11.BrbI 00s13aT€NBHO AOJKHBI 3aMOJHUTD 3Ty aHKETY.

12. MosKeT ObITh, OH 3HAET OTBET HA 3TO BOIPOC?

13.OH HaBepHsKa yKE PEIIMI 3Ty 3aJa4y.

14.BaM He HY>KHO BTOPO#i pa3 MePENUCHIBATH KOHTPOJIBHYIO.

15.Bam cnemoBaio Obl IPEABApPUTEIBLHO IOCOBETOBATHCA C HaMH,
MPEKJIEC YEM MPUHUMATh 3TO PELICHUE.

16. HagepHoe, oH 3a0b11 O HAIIEM MPHUTTIAIICHUH.

17.Ham He npHIILIOCh TOTOBUTH O0E/I, TAK KAK MbI MTOILIH B PECTOPAH.

18.Tebe He ciienoBano Kynarbcsi B TaKOH X0J104HOU Boje. Thl MOr Obl
MPOCTYAUTHCA.

19.TToueMy emy OpHIILIOCH IEPEACIIBIBATH BCIO padoTy?

20.0OH ona3apIBacT Ha BCTPEYy, TaK KaK HABEPHAKA CeHYac CTOMT B
poOKe.

21.He MoxeT ObITh, 4TOOBI OH TaK OBICTPO Joexall A0 Joma. OH KUBET
JIAJIEKO.

22.3aBTpa eMy MPUACTCS MOKWTH K 3yOHOMY Bpauy.

23.B03MO0kKHO, OHM YK€ YeXaJIh Ha 1a4y HA BCE JIETO.

24.Kornaa tebe Hy:>KHO ¢ HUMHW BCTPETUTHCA?

25.CKopee BCEro, OH CElYac CUAUT B UHTEPHETE.

26.He MoxkeT ObITh, YTOOBI OHM OCCOPUIIUCK.

27.BepoATHO, OH HE CMOXKET K HaM MPUCOCTUHUTHCA.

28.Bo3M0KHO, OH ceiyac AeJacT JJOMAIIHEE 3a/IaHHE.

29.He MoeT ObITh, YTOOBI OHHM MPOITYCTHIIM CBOIO JIIOOUMYIO MIEpeaady.

30. sl MOKEIIb AAaTh MHE €r0 HOMED TesieoHa?

31. JlomkHO OBITh, OH YK€ CJIblIal 00 3TOM COOBITHH.

32.9Ty KHUTY MOYKHO J0CTaTh B HaWEH OUOJIMOTEKE.

XN B
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33.00s3aTebHO MOCMOTPUTE 3TOT 3aMeUaTe/IbHbIM CIIEKTAKIIb.

34.Tebe cnenopano Obl MO3BOHUTH UM €11 BUEpa.

35.MHe npUIIIOCh BEPHYTHCS JOMOM, Tak 51 3a0bI TaM BaKHBIC
JIOKYMEHTHI.

36.Bo3M0OxHO, ceroHst OyeT CHET.

37.OHHU HaBEpHsIKa 3a0bLIH O CBOEM OOCIIIAHUU.

38.Tebe He cneaoBano pacckasbiBarh €My 00 3TOM MPOUCIIECTBHM.

39.He MoskeT ObITh, 4TOOBI OH Tak 0€300pa3HO ceOsl MOBEI.

40.Ham npuIuioch 3aHOBO MPOU3BOAUTH BCE BHIYMCIICHMS.

41.HaMm He HY>KHO NpUXOJUTh HA padoTy paHblie 10 yTpa.

42 .MoskeT ObITh, OHM €III¢ HE J0eXajd JI0 A0Ma.

43.BeposITHO, OH CMOKET HAaM MOMOYb.

44 . TloceTuteNn HE NOJHKHBI KOPMUTH 3BEPEN B 300TIAPKE.

45.Tebe caeayeT npounTarh 3Ty CTaThIO.

46.B03MOKHO, OH €ILIE HE NOArOTOBUI JOKJIAJL.

47. Bpl MOKETE MOEXaTh TyJa B JTHO00E BPEMSL.

48.OHu HaBEpHSKA YK€ MOCMOTPEHN STOT (PUIIBM.,

49. MHe npuIiocs CaMOMy YMHUTh KOMITBEOTED.

50.He MokeT OBbITh, YTOOBI OH CAAJI DTOT PK3aMCH.

51.MoxeT ObITb, MBI U BHUACIAM 3TOT (PUIBM paHbIIE, HO TOYHO HE
MOMHUM.

52.Tebe He HyKHO CHEUMAIBHO MOKYyMNaTh 3TOT YYEOHHUK, OH €CTh B
OubIMOTEKE.

53.Ham He Hy»KHO ObLIO €XaTh CaMUM, HAC MOABE3JIH.

54.Tebe crnenoBano Obl NPUCIYIIATHCA K €M0 CIOBAM.

55. 4 mory BaM 4eM-HUOYAb OMOYB?

56.Thl HE TOJKEH MUATH XOJOAHYIO BOJY MOCIE MPOCTY BI.

57.Ckopee BCero, OH ceivac 3aHAT U HE MOKET BaC MPUHSTH.

58.Thl MOT OBl HAM MIOMOYb BUEPA C JOMAIIHUM 3aJJaHHUEM.

59.He MOxkeT ObITh, YTOOBI OHHU Y3KE€ TAK PAHO MPUEXATIH.

60. Bel MOKETE OOMEHSTH STOT TOBAPp.

THE CONDITIONAL and THE SUBJUNCTIVE
I. Choose the correct verb form in brackets for the following types of the
conditional sentences. In some cases the type of the conditional is

specified.

1. If you (to apologise) straight away, he (to forgive) you. (III)
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2. If you (to pay) more attention to your child, he (do) better at school.
(II)

3. If the book (not to be) so expensive, I (not to give up) the idea of

buying it. (IT)

If John (be picked) for the team, he (be boasting) about it for weeks. (I)

If he (to train) more, he (to succeed) in setting a record. (III)

What you (to do) if you (to win) the lottery? (II)

If we (to travel) together, we (to save) money. (III)

If you (not to stop) borrowing the money, you (to be) in trouble. (I)

What you (to do) if you (to find) a wallet in the street? (II)

10 If T (to know) enough about the machine, I (to mend) it myself. (I)

11.1f she really (to want) to see me, she (to come) earlier. (III)

12.You (to be surprised) if I (to tell) you how much this cost. (II)

13.If I (to have) a spare ticket, I (to invite) you to the concert. (II)

14.1f they (to understand) the problem, they (to find) a solution. (II)

15.You (to know) the answer now, if you (to read) the book. (mixed)

16.1f I (to go) to Berlin next week, I (to travel) by train.

17.1f I (to have) time tonight, I (to finish) the novel I'm reading.

18.1f he (be leaving) at 6 o’clock today, I (ask) him to give me a lift.

19.1f she (to finish) work early today, she (to go) home.

20.1f he (to recognise) me yesterday at the party, he certainly (not to
show) any sign of it.

21.1f it (not to rain) now, we (to go) to the country.

22.1f we (to book) tickets beforechand, we (not to stand) in the queue
now to get them.

23.1f it (not to be) so cold yesterday, we (to go) for a walk.

24.You (not to make) this mistake, if you (to take) notice of my words
then.

25.He (to translate) that article yesterday, if he (not to be) busy.

26.1f John (not to be) so selfish, he (not to go) to the seaside alone last
year.

27.1 (to lend) you money yesterday, if you (to ask) me for it.

28.1f I (to be) you, I (to tell) him the truth long ago.

29.1f I (to be) you, I (to call) him myself.

30.1f you (to give) me the book now, I (to give) it back to you
tomorrow.

A e A
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Il. Rearrange these sentences using the structure ‘I wish’ with the
subjunctive.

1.

It’s a pity it’s raining now.

2. It’s a pity I didn’t take part in that excursion.
3. It’s a pity you can’t stay with me.

4. It’s a pity you don’t believe my story.

5. It’s a pity you don’t keep your things in order.
6.
7
8
9.
1

It’s a pity I stayed at home yesterday evening.

. It’s a pity he didn’t make another attempt to pass the driving test.
. It’s a pity my room is not large.

It’s a pity I didn’t give up smoking long ago.

0.1t’s a pity we didn’t take our camera with us when we went to the

country.

II1. Put the verbs in brackets into the correct form paying attention to the
mixed types of the conditionals.

1.

She will take care of the children for us next weekend because her
business trip was cancelled. But, she (not to take) care of the children
for us next weekend if her business trip (not to cancel).

Tom is not going to come to dinner tomorrow because you insulted
him yesterday. But, he (to come) if you (not to insult) him.

Marie is unhappy because she gave up her career when she got
married. But, Marie (to be) happy if she (not to give) up her career
when she got married.

Dr. Mercer decided not to accept the research grant at Harvard
because he is going to take six months off to spend more time with
his family. But, Dr. Mercer (to accept) the research grant at Harvard
if he (not to take) six months off to spend more time with his family.
I am unemployed because I had a disagreement with my boss and 1
was fired. But, I (not to be) unemployed if I (not to have) a
disagreement with my boss and I (not to be) fired.

Nicole speaks Chinese fluently because she lived in China for ten
years. But, Nicole (not to speak) Chinese fluently if she (not to live)
in China for ten years.

I will not help you study for your test because you have spent the last
two weeks partying and wasting time. But, I (to help) you study for
your test if you (not to spend) the last two weeks partying and
wasting time.
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3.

I am completely exhausted, so I will not go with you to the movies
tonight. But, if I (not to be) completely exhausted, I (to go) with you
to the movies tonight.

She 1s not worried about the conference tomorrow because she is not
giving a speech. But, she (to be) worried about the conference
tomorrow if she (to give) a speech.

10.Frank 1is not going to the graduation ceremony because he broke his

leg snowboarding last week. But, Frank (to go) to the graduation
ceremony if he (to break) his leg snowboarding last week.

11.The hotels filled up months in advance because the festival is going

to include jazz artists from around the globe. But, the hotels (not to
fill) up months in advance if the festival (not to include) jazz artists
from around the globe.

12.We are not worried about the recent string of robberies in the

neighbourhood because the police have started regularly patrolling
the arca. But, we (to be) worried about the recent string of robberies
in the neighbourhood if the police (not to start) regularly patrolling
the area.

1V. Complete the sentences to express your thoughts for each of the
Jfollowing situations using the subjunctive mood. Look at the example
given.

1.

Your dream is to be able to surf. 7 wish I could surf!

2. Your colleague keeps interrupting you when you're speaking. I'd

rather you............. :

It's ten to nine and your sister has to be at the station by nine! Come
on, it's time you............. :

You lost your temper at work this morning and now you're sorry. I
wishL............. :

Your brother is pretending not to have seen his old girlfriend. Why
are you acting as though............. :

You think your friend might lose his job and he should think about
this possibility. But suppose you............. :

A friend has rather stupidly given your phone number to an
insurance agent. I'd rather you............. :

Someone who's rather wealthy is always complaining about having
no money. Oh, stop talking as if you............. :
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9. You're depressed because you have to go back to work tomorrow. If

onlyI............. :

10. A passenger on a boat stopped you from falling overboard by

holding on to your belt! If he............. :

11. The cold, cloudy British weather 1s getting you down. I really

wish.............

12. You dream of being rich and travelling round the world in your own

plane. If I............. :

V. Complete the text with the correct form of the verbs.

I wish I (1: to be) braver when I first got to Art college. I can't believe how
naive I (2: to be). If I just (3: to follow) my own path, it's possible that the
cighteen-year-old me (4: to create) something artistically vibrant and
interesting. Sometimes I think I (5: to be) better off working as a pavement
artist when I left school. If I (6: to have), I probably (7: to paint) much
more interesting things now. You'll never be a successful artist unless you
(8: to find) your own style.

VI. Translate the sentences into English using conditionals and
subjunctives.

1.
2.
3.

0NN

Ecnu ero He OyzeT omMa, 1 OCTaBJIt0 MY 3aIUCKY.

Ecnu Obl ceiiuac He ObLIO Tak MO3/JHO, s1 ObI 3aI1€]I K HEMY B TOCTH.
Ecnu Obl 1 He ObUl Tak 3aHAT Buepa, s Obl IOEXajl Ha BOK3ajl
MPOBOJIUTH BAC.

51 611 OBI BaM OYEHB OJIAroapeH, €CM Obl BbI CMOTJIM YJETUTH MHE
HECKOJIBKO MUHYT.

S Oyry OUEHB OrOpPYEH, €CJIM OHU HE MOETYT C HAMU 3a TOPO/I.

Ecnu 6b1 5TO 3aBHCENI0 OT BAC, Bbl ObI TIOMOTJIM Ham?

KoMy ObI Thl TO3BOHWII €IIE, ECIU OBl HE CMOT CBA3aThCA CO MHOIM?
Ecnu s Oyty Tam M yBHKY €10, 51 IEPEAaM €My OT TeOs MPUBET.
JKasp, 4TO THI HE CMOT MIPUCOEAUHUTHCA K HaM. MBI ObI MPEKPACHO
MTPOBEJIM BMECTE BPEMS.

10.2Kanp, 4T0 MBI HUYEr0 HE 3HAIU O KOH(pepeHIMH. Mbl OBl TOXKE

MPUHAINA B HEW y4acTue.

11.Te1 Kyna-HuOyap moexaj Obl HAJIOJCO OTIABIXaTh, €CU OblI 3apaHee

cJajl BCE DK3aMEHBI?

12.Ecnu Ob1 MBI paboTanu Buepa OOJIbIIE, ceiiuac BCE ykKE OBLIO OBl

roToBO.
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13.Ecnu Obl s XOpomo 3HAJI aHIJIMACKUMA, s Obl MOMOr Bam BuYEpa
MEPEBECTH ITY CTATHIO.

14.OH, HaBepHOE, HE 3HAN, YTO STOT (PUJIBM YKE BBIIIEN HA SKpaHbl. S
YBEPEH, YTO OH HEMPEMEHHO MOCMOTPEIN OBl €T0.

15.7Kanp, 4To BBl HE COOOIIMIN HaM 00 U3MEHEHUSIX B paclicaHuu. Mel
OBl HE MPUIILIM TOTJA K NEPBOI Tape.

16.2T10r0 OBl HE CAYUMIIOCH, €CITH ObI BBl OBLIIM TaM.

17.Ecnu Obl BBl MPUIIIM B Mara3uH BO BPEMS paclpoJaku Ha MPOIUIOM
HEJIEJIE, TO CMOIJIM Obl KyIIUTh BCE 3TH BEIIU C OOJIBIION CKUJKOM,

18. MBI CMOKEM MPUEXATH TYJIA BOBPEMS, €CJIM MOE3/T HE OMO3AACT?

19.1louemy Bbl He mpuriacuiu ero? S yBepeH, 4To OH ObLI ObI paj
MOBUJATHCS C HAMM.,

20.7Kajib, 4TO g HE OYEHBb XOPOIIO 3HAO KOMIIBIOTEpP. S OBl co3nan
COOCTBEHHYIO CTPAHUYKY B UHTEPHETE.

21.Ecnu Obl Bamu AOKYMEHTHI MPHIILJIA HA MPONLIOH HEAEE, MbI ObI
MPUHSIN UX.

22.Ecnu Obl MBI HE IIJIA TaK OBICTPO, MBI Obl HE Tak ceiiyac ycTanu u
MOTJIA ObI NPOJOJIPKUTH HAIII MTYTh.

23.Yto OBl BBl CACANIH, €CJIU Obl ObIJIM HA MOEM MecTe?

24.Ecii Obl ThI 3apaHee NpUHEC C COOOM ClOBaph, TO CMOr OBl
MEPEBECTH CEMYAC STOT JOKYMEHT?

25.Ecnu Obl g HE MOMWEN K HAM BUYepa, Mbl Obl JaKe ceidac HUYEro He
Y3HAJIA O TOM, YTO TTPOU3OIILIO.

26.Ecnu Obl OH yMeJl iepskaTh ¢e0s1 B pyKax, TO HE YCTPOU Obl CKaH 1Al
BUEpPA B Ouce.

27.X0opomio, 4T0 Bbl HE MPUIILIKM YyTPOM. Bbl ObI HUKOTO HE 3acTaiu
J0Ma.

28. 51 OBl BBISICHWI ATOT BOMPOC €IIE PaHBIIE, HO, K COMKAICHUIO, Y MEHS
HE OBLJIO BPEMEHHU.

29.Kanp, yTO Ha yIMUE Takas Ioxas norojaa. Mel Moriu Obl MOEXaTh
3a ropol.

30.2Kanb, uto s ObuLT 00JIEH Ha mpouioii Heaene. S Obl 00s3aTENbHO
MPUIIEI K HEMY Ha JICHb POXKICHUSI.
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NON-FINITE FORMS OF THE VERB

I. Put the verbs in brackets into the correct form: the present participle
or the past participle.

1. We stood on the bridge (to connect) two halves of the building.

2. The weapon (to use) in the murder has now been found.

3. The prisoners (to release) are all women.

4. The land (to stretch) away to the left all belongs to Mrs Thomson.

5. Police took away Dr Li and items (to belong) to him.

6. The book (to publish) last week is his first (to write) for children.

7. One of the twins was Reggie. What was the other one (to call)?

8. I ran through the crowd of people (to hurry) to get to work.

9. A man (to operate) the equipment was dressed in protective clothing.

10. The eye hospital has recently obtained new equipment (to allow) far

more patients to be treated.

Il. Match each cause and effect turning the sentences in the right
column into constructions with the present participle.

Cause Effect

1. Computers with MIDI | a) This permits extra information to be

interface boards can be stored on the performer and other

connected to MIDI track details.

instruments. b) You <can <create your own
2.Each side of a DVD can have compilation.

two layers. ¢) This allows you to sample a new
3.MP3 removes sounds we can't group before buying their CD.

hear. d) This gives an enormous storage
4.You can download single capacity.

tracks. ¢) This allows the music being played
5. Each MP3 file has a tag. to be stored by the computer and
6.MP3 players contain several displayed on the monitor.

devices. f) This enables you to change the
7.You can download a skin appearance of your player.

program. g) These allow you to control the way
8.You can legally download the music sounds.

SOME music. h) This produces much smaller files.
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II1. Put the verbs in brackets into the correct form: the present participle
or the past participle.

Proposition 215 is a two-year-old law (1: to intend) to allow seriously ill
people in California to use marijuana as medicine. Such ill people carry a
doctor's note (2: to verify) that they suffer from chronic pain or serious
disease. Steve McWilliams is a person who uses marijuana daily to deal
with constant pain (3: to result) from several car accidents. Another person
who was delighted when proposition 215 passed was Evan Keliher of San
Diego. Keliher said it was (4: to relieve) to use marijuana legally after
thirty years of being a "closet marijuana smoker." Keliher, who 1s a former
Marine and retired school teacher, was (5: to diagnose) with glaucoma in
the 1960s. He began to smoke pot in 1967 after hearing that it helped
relieve intra-ocular pressure (6: to cause) by glaucoma. He had been using
eye drops, but his eye sight was steadily (7: to weaken). Doctors (8: to
treat) him at that time predicted that he would be blind by now. Though he
can no longer see in his left eye, his eyesight in his right eye 1s amazing.
He is so satisfied with the results from marijuana that he wrote a book (9:
call), "Grandpa's Marijuana Handbook." Keliher wants to teach older
people who are sick and suffering how to use marijuana. Still, there are
many problems (10: to face) law enforcement officers in California.
Marijuana (11: to grow) for medicinal purposes is legal, but how much is
necessary? Law enforcement officers feel it will take time for the medical
marijuana law to be (12: to enforce) fairly.

1V. Choose the correct form of the participle.

1. The road repairs carrying/carried out on the motorway might delay
traffic.

2. Having been/Being a doctor, she knew what side-effects the

medicine could have.

Not knowing/known Italian I found life in Rome difficult.

4. Hunting/Having been hunted to close extinction, the rhino is once
again common in this area.

5. Painting/Painted in dark colours, the room needed some bright
lights.

6. Having completed/Completed the book, he had a holiday.

7. Glancing/Glanced over the shoulder, he could the see the dog having
chased/chasing him.

e
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8. Knowing /Having known exactly what I wanted, I didn’t spend much
time shopping.

9. The decisions taken/having been taken will affect all of us.

10. Inviting/Having been invited to the party, we could hardly refuse.

11. An agreement has been signed to protect the forests being cut/cutting
down all over the world.

12. Being imported/Been imported, the equipment was more expensive.

13.The trees having blown/blown down in the last night’s storm have
been moved off the road.

14. Arriving/Arrived early for his appointment, he spent some time
looked/looking at the magazines.

15.The score being/having been level after 90 minutes, a replay will
take place.

V. Translate the sentences into Russian using present, past, or perfect
participles.

1. He 3Has aHrIMHACKOTO s3bIKa, 1 HE MOHSUT U3 CKa3aHHOTO HH CJIOBA.

2. TlotpartuB Bce CBOM JEHBIM HA OE3JCNYLIKH, Mbl TaK U HE KYMWIH
HUYETO HYKHOTO.
[TpoCTYy IMBIIMCH, OH BBIHYKJEH OBbLT CUAETH JOMA.
4. Kaxnaplii, nOpPUHAMABIIWAKA  y4acTUE B OPraHM3alUdd  3TOrO
MEPOTIPUSITHS, TIOJTYUHIT ICHEKHYIO TIPEMHUIO.
B3sTble B OMOIMOTEKE KHUTY JIOJKHBI OBITH BO3BPAILICHBI BOBPEMSI.
6. [IpounTaB MHOTO KHHI IO STOMY BOIPOCY, OH CMOI CJEJIaTh OYEHb

UHTEPECHBIN TOKIIA/L.
7. TIpoKUB B 3TOM TOPOAKE BCIO KHU3Hb, OH 3HA B HEM KOKIYIO VIIUILY.
8. MMest MHOro CBOOOJIHOTO BPEMEHH, OH PEIIN NPOUTUCH MEITKOM.
9. He BblyuuB marepuan, OH HE CMOT OTBETHTH Ha 3aJaHHBIA €My Ha

AK3aMEHE BOMPOC.
10. Bl 10J5KHBI OBITH OYEHb BHUMATE/IbHBI, UTPas B IIAXMATBHI.
11.TToTepsiB K04 OT KBAPTUPHI, OH HE CMOT TTONACTh JIOMOA.
12.He 3Has, Kak MEPEBECTH HSTO NPEIOKECHHUE, s BOCIOJIB30BAICH

CJIIOBapEM.
13.TIpoBeaeHHOE B MPOILIJIOM IOy UCCIETOBAHUE MOATBEPAWIO JAHHOE

MPETIONOKEHUE.
14.910T COOpPHUK COCTOMT W3 HAy4HBIX CTareil, HaNUCAHHBIX

COTPYAHUKAMM Kadeaphl.
15. Komnanust OTKpBIBAET HOBBIA (hUIMaA, PaCMOJIOKEHHBIA B LICHTPE

ropoJa.

e

el
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16. U3patomuecss st A€TEH  KHUTM  OOBIYHO  OYEHb  XOPOIIO
WUJUTIOCTPUPOBAHBI.

17.Bbl HE HOKHBI MOBTOPATH OMMOOK, CHAEJAHHBIX B MOCIETHEM
JUKTAHTE.

18.OH yien, ckazaB, 4TO CKOPO BEPHETCH.

19. OH BbIIIET U3 KOMHAThl, HHKEM HE 3aMCUCHHBIN.

20.1IoBepHYB 3a yroj, Mbl YBUACIH HOBOE 3/IAHUE.

21.04eHb yCTaBIIMA, 1 P OCTATHCS J0MA.

22.He 3Hasg TOYHOTO ajpeca, OH PEMINII BBISICHUTB JOPOTY Y TTPOXOKHX.

23.YcuplmaB mard B KOPUAOPE, S BBIMIE] W3 KOMHATBHI, YTOOBI
MOCMOTPETh, KTO MPHUILE].

24 . TIpounTaB MUCHMO, 51 pacmneyaran ero Ha MPUHTEPE.

25.KpaliHe pacCepKEHHBIMA, OH OTKa3ajcsi ¢ HAMM pa3roBapyBarh.

26. Mbl OTpaTHIIM LEJIbIA JEHB, MBITASCh IOYMHUATH MAILIMHY.

27.TTocMoTpeB 3TOT (PUIIbM HECKOJIBKO Pa3, 51 3HAJ €ro MOYTH HAU3yCTh.

28.Haxonasich 6e3 paboThI, OH BOal B ACIIPECCHIO.

VI. Translate the sentences into Russian using either participles or the
passive voice.
1. Korma noanucany 3TOT JOKYMEHT?
2. JIOKYMEHT, MOANMCAHHBIM HAYaJIbLHUKOM, MEPEAAIA B IPYTroi OTACIL.
3. OTOT BONPOC ObLI YCMEIIHO Pa3pEIICH.
4. PemieHHBIi BUEpa BONPOC MPUBJIEK BCEOOINEE BHUMAHKE.
5. Pemast ogHy npoOJjieMy, OHU CTOJKHYJIMCh C APYTOM.
6. DTO 37aHME MTOJTHOCTHIO PEKOHCTPYUPOBAHO.
7. PEKOHCTPYMPOBAHHOE 3/1aHUE BBITJISIIEIO OUEHb KPACUBO.
8. Ero crares Oblja Hane4yaTaHa B ra3ere.
9. HaneuaranHnasi B ra3eTe CTaThsi IPOU3BENIA CEHCALIUIO
10.Ha »r1oii koH(pepeHuMU OyJeT OO0CYKAAThCSI MHOIO0 HHTEPECHBIX
BOITPOCOB.
11.Bonpockl, o0cy:xaaBmuecs Ha 3TOH KOH(PEpeHUMU, ObLIM KpaiiHe
aKTyaJbHBIMU.
12.HeaaBHO OBLI0 OpEMI0KEHO HHTEPECHOE PEIICHUE STOM 3aauu.
13.ITpou3BeAEHHBIE BHIYMCIICHUS OKA3aJIUCh HEBEPHBIMHU.
14. O npoucxoxkaeHuu JIyHbl ObIJIO BBIIBUHYTO MHOTO THUITOTES.
15. He 3Has nmpaBuibHOTO OTBETA, OH MOMPOCKHI HAC TTIOMOYb EMY.
16. O6Hapy:keHHBIE B pab0TE OMMOKH OBLITA UCTIPABJICHBI.
17.E1ie He pemieHo, Koraa 0yaeT NpOBOAUTHC KOH(EPEHIIHS.
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18.

19.
20.
21.
22.

Bce ydeHble, NpUHUMABIIME Y4YacTHE B 3TOM IPOEKTE, MOJYyYHIH
BO3MOKHOCTh padOTaTh 3a IpaHULICH.

['ne mpuMeEHSIETCS STOT METOA?

Cnenyet ckazarh, YTO MbI CACHANM PsiJ B&KHBIX OTKPBITHIA.

DOTOT MaTepuaj Hy>KHO U3YyUYHUTh OUYE€Hb BHUMATEJILHO.

OOparyTe BHUMAHUE HA MOIYEPKHYTHIE B MIPEI0KEHUH CIIOBA.

VII. Paraphrase each of these sentences using the gerund as in the
example.

An important function of the operating system is to manage the computer's
resources.

Managing the computer's resources is an important function of the
operating system.

1.

One task of the supervisor program is to load into memory non-
resident programs as required.

The role of the operating system is to communicate directly with the
hardware.

One of the key functions of the operating system is to establish a user
interface.

4. An additional role is to provide services for applications software.

VIIL

Part of the work of mainframe operating systems is to support
multiple programs and users.

. The task in most cases is to facilitate interaction between a single

user and a PC.

One of the most important functions of a computer is to process large
amounts of data quickly.

The main reason for installing more memory is to allow the
computer to process data faster.

Translate the sentences into Russian using the gerund.

. 5 He CMOry nepeBCCT 5TOT NOKYMCHT, HC IMOCMOTPCB HCCKOJLKHX

CJIOB B CJIOBape.
4 nymaro noexars Tyj1a OCEHbIO.

4 3aiiny K BaM NEepe TEM, Kak yexarh U3 MOCKBBI.

S moGnarogapun €ro 3a TO, YTO OH KYIHWJ MHE TaKWE WHTEPECHBIE
KHUTU.

OH NMOHUMAET BAXKHOCTh U3YUYECHUS MHOCTPAHHBIX SI3BIKOB.
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OH OBLJT 3aHAT NEPEBOJOM KAKOM-TO CTAThM, KOTJIA 51 IPHUIIIET.

OH NMpUBBIK BCTABATh PAHO.

OH BOIIEN B KOMHATY, HE MOCTYYaB.

9. Sl He Mory noiTu Tyaa, HE CKa3aB €My 00 3TOM.

10. M1 HE MOTJIM HE PACCMESITHCS, KOTAA YCIJIBIIAIN 3TO.

11.TTponomxaiite paccKka3bIiBaTh BAIy UCTOPHIO.

12.Bmecto TOro, 4roObl moexarb Ha MamMHE, OHW MOLIJIM MENIKOM U
OMNoO34aJIM Ha KOHLEPT.

13. Y 1anochk 1 BaM pemdTh 3Ty 3a1a4y?

14. 51 noGnaroaapu €ro 3a To, 4TO OH MOMOT HaM.

15.3T0T QpunbM CTOUT NOCMOTPETb.

16. 51 He BO3paXkaro NPOTHUB TOTO, YTOOBI MTOEXATh Ty/1a CEMOAHS.

17.becrione3Ho uaTu Tyaa ceiyac.

18. M3BUHUTE, YTO 1 HE MMO3BOHUJI BaM BUEpa.

19. OH HacTauBal Ha TOM, YTOOBI 51 BEPHYJICS CKOPO.

20.OH HECET OTBETCTBEHHOCTH 3a TO, YTOOBI padoTa ObLla 3aKOHYCHA
BOBpEMSI.

21.BbI HE BO3pakKaeTe MPOTUB TOTO, YTOOKI 51 KypHJI 3J€Ch?

22.He Ob1JI0 HAACKIBI, UYTO MBI JIOCTAHEM OMJIETHI.

23. 5] nOMHIO, YTO BUACI €ro rAe-TO.

24.0Omna ynpekana ce0s 3a To, 4TO CKazaja 3To.

25.1IOMHUMO TOTO, 4TO OH OYEHB PPYJAMPOBAH, Y HETO €IIE U MPEKPACHOE
YyBCTBO FOMOpA.

26.OHM HACTOSIJIM HA TOM, YTOOBI IOMOYb HaM.

27.HeT HUKaKOH BO3MOKHOCTH OTBICKATh €r0 aJpec.

28.Y Hero 00JIbIION OIBIT BOYKICHUS MAIIIUHBI.

29.Bam MHTEPECHO MPUHATH YYACTUE B TOM MPOEKTE?

30.B ueM npeumymiecTBa UCIOIb30BaHNsI UHTEPHETA?

31.HecmoTps HA TO, YTO OH YK€ YBUAEN 3TOT (PUIIBM, OH IOCMOTPES €70
C HAMH 32 KOMIIAHHUIO.

32.MBbI ¢ HETEPIICHUEM OKUJAIH MOE3/IKH 3a TPAHUILY.

33.OHU U3BUHUJIUCH 34 OTIO3/IAHUE,

34.Ero 0OBUHWIM B BOPOBCTBE.

35.OHH HACTOSIJIM HA TOM, YTOOBI S OCTAJICS IOMa.

36.1Ipenogasaren HE OJOOPSUIM TOTO, YTO OH MPOMYCKAECT TAK MHOTO
3aHATUH.

37. 41 He pacnoIOKEH YCTPAUBATh BEUEPUHKY.

38. OH 1m10X0 NMUIIET COUUHEHUS.

39. becnoie3Ho AenaTh 3Ty padboTy ceiuac.

e
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40. 51 He aymaro, YTO CTOUT XOJUTh HAa 3TO COOpAHME.

41.0H ymen, HU ¢ KEM HE MOMPOIIABIIUCS.

42 .TIpocTy MEHS 3a TO, UTO 51 3a0bLIT MPEAYIIPEAUTH TEOSI O BCTPEYUE.

43 .MHe He OUeHb X0UeTCsI UX BUJICTD.

44, OHU HACTOSIIM HA TOM, YTOOBI Mbl BOBPEMSI 3aKOHUMIIA PadoTy.

45. Mpbl HEe 0100psIEM TOTO, YTO BbI BCE JENACTE MO-CBOEMY.

46.OH Bcerga MeuTaja KynuTh MAIlIUHY.

47.Tebe yaanoch HaATH 3Ty HHPOpMALUIO?

48.Yto nomMemiano Tede XOpoIlo MOAroOTOBUTECS K K3aMeHaM?

49.BMecto TOro, 4ToObl MpPa3AHO MPOBOJAWTH BpeMs, Jydlle Obl
YCTpOWJICS Ha padoTy.

50. B yem npenmyiiecTsa u3y4eHuss MHOCTPAHHBIX SI3BIKOB 34 MPAHULICHA?

51.OHuU BCE BpeMs YTO-TO PACCKa3bIBAIOT 0€3 OCTAHOBKM.

52.He crout 6eCOKOUTHCS 00 3TOM HE3HAYUTENBHOMN OIIMOKE.

53.OH HCHBITHIBAET TPYAHOCTH C TMEPEBOJIOM TEKCTOB C PYCCKOrO Ha
AHTJTANCKUIA.

54. Het cMbICTa MOKYMAaTh HEHYKHBIC BEIIH.

55. becnonie3Ho crieminTh. MBI BCE€ paBHO OIO3aMH.

56. Hukomy eliie He y1aBajaoCh J0KA3aTh 3Ty TEOPEMY.

57.3T0 CpeACTBO MPEAHAZHAYEHO JJI1 MBIThSI OKOH.

58.HecmoTpss Ha moxo€ CaMOYyBCTBME, OH BCE PABHO MOIIENT Ha
paodoTy.

59.1lepen TeMm, Kak Oyjaere JAenarb OTO 3aJaHUE, MOPOYHTANTE
COOTBETCTBYIOIIUIA pa3ic/ B yUCOHUKE.

60. BmecTo Toro, 4to0bl CMOTPETH TEAEBU30D, JABANTE MOMIEM Iy JISITh.

IX. Put the verbs in brackets into the correct form using infinitives or
gerunds.

1. Don't switch off without (to close down) your PC.

2. I want (to upgrade) my computer.

3. He can't get used (to log on) with a password.

4. You can find information on the Internet by (to use) a search engine.

5. He objected to (to pay) expensive telephone calls for Internet access.

6. He tried (to hack into) the system without (to know) the password.

7. You needn't learn how (to program) in HTML before (to design)
webpages.

8. 1 look forward to (to input) data by voice instead of (to use) a
keyboard.
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X. Put the verbs in brackets into the correct form using infinitives,
gerunds, or participles.

1.

2.

‘I was lonely at first,” the old man admitted, ‘but after a time I got
used to (to live) alone and even got (to like) it.

I meant (to buy) an evening paper but I didn’t see anyone (to sell)
them.

Next time we go (to house-hunt), remember (to ask) the agent for
clear directions. I wasted hours (to look) for the last house.

The hunters expected (to be paid) by the foot for the snakes they
caught. This meant (to take) the snakes out of the sack and (to
measure) them. They seemed (to expect) me (to do) it; but I wasn’t
particularly anxious (to be) the first (to die) of snakebite.

He said, ‘I’'m terribly sorry (to keep) you (to wait).” I said, ‘It doesn’t
matter at all,” but he went on (to apologise) for nearly five minutes!

I always try (to come) in quietly but they always hear me to (go)
upstairs.

They don’t allow (to smoke) in the auditorium; they don’t want (to
risk) (to set) it on fire.

All day long we saw the trees (to toss) in the wind and heard the
waves (to crash) against the rocks.

He noticed the helicopter (to hover) over the field. Then, to his
astonishment, he saw a rope ladder (to be) thrown out and three men
(to climb) down. He watched them (to run) across the field and out
through the gate. Later he saw a car with four men in it (to come) out
of the lane (to lead) to the field.

10.She remembers part of her childhood quite clearly. She remembers

(to go) to school for the first time and (to be) frightened.

XI. Paraphrase the sentences using the structure Subjectt+verb+the
infinitive with such verbs as ‘to believe’, ‘to consider’, ‘to know’, ‘to
suppose’ etc.

1.
2.

3
4

People know that he is armed.

We believe that he has special knowledge which may be useful to
the police.

People believe that he was killed by terrorists.

We consider that she was the best singer that Australia has ever
produced.

We know that the expedition reached the South Pole in May.
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It was expected that the damage would be extensive.

It 1s thought that there are too many obstacles to peace.

It’s your duty to obey him.

In 1981 it was reported there were only two experts on this disease
in the country.

10. It seems that someone has made a terrible mistake.

11. We consider that the petrol tank is dangerous.

12. It is thought that the electrical system is a fire hazard.

oo

XII. Translate the sentences into English using the structure
Subjectt+verb+ the infinitive.

OXKuaatoT, 4To IOroBOp OYJAET MOANKCAH HA YTOM HEAEE.

M3BECTHO, YTO OH NPUACPKUBACTCS APYroro MHEHUS IO STOMY

BOIPOCY.

3. T'oBOpAT, 4TO ATOT IOM OB MOCTPOEH OKOJIO JABYXCOT JIET TOMY

Ha3a/l.

OH, MOX03K€e, 3HACT TO MPEAMET OUYEHBb XOPOIIIO.

DTa KHUTA, MO-BUJUMOMY, OYEHb UHTEPECHA.

Co001I1ar0T, 4TO COCTOSAIICS 3aIyCK HOBOTO CITyTHHKA.

['OBOPSAIT, UTO OHA 3HACT TPU UHOCTPAHHBIX SA3bIKA.

[Tpeamnosaraiock, 4TO OHU BBITIOJIHAT 3TY 4acTh paOOTHI,

[Toroaa, BEPOSATHO, U3MEHUTCH.

10 Bps v oH npuaetT croaa.

11.Tlomarator, 4YTO STHU PE3yNbTAThl OKAKYTCA UCHHBIMU IS
JAJIBHEHIIETO UCCIICIOBAHUS.

12. KaxkeTcst MamOBEPOSITHBIM, UTO UX MPEATOKEHUE OYJET MPUHSTO.

13. HukTo, no-BuaAMMOMY, HE 0OpaTWJI BHUMAHKS Ha €ro CJIOBa.

14.Cunraercsi, 4TO B J0KA3aTeIbCTBE 3TOM TEOPEMBI OBLIO HECKOJIBKO
HETOYHOCTEH.

15.TIpeanonaraercsi, 4To BBl AOJKHBI OBUIM 3HATH OTBET HAa ATOT
BOIPOC.

16. 3BeCTHO, YTO OH OJMH U3 JTYYIIHX CIEUHUATUCTOB B 3TOH 00J1aCTH.

17.Kazanock, 4TO OH JIOBOJIEH Hallleil padoTOM.

18.Oxkupmaercs, 4Yro Bce OyayT NpPUHUMATh Y4yacThe B DTOM
KOH(pEepeHIMH.

19.OH, ckopee Beero, KJIET Bac y BXO/1A.

20.CuHTacTCA, YTO B 3TOM KYPHAJIE €CTh MHOTO MHTEPECHBIX CTATEH.

21.0Oka3anock, 4To 3TO OUEHB TPYAHAA 3a7a4a.
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22. 5l cnyyaiiHO Crblaj, Kak OHU TOBOPWIIA 00 3TOM.

23.Cny4usioch Tak, 4To Hac He ObLJIO TaM B 3TO BPEMSI.

24.3TOT paccKa3 MOKET MOKA3aThCs JJOBOJIBHO CKYYHbIM.
25.1IpeanonaracTcs, 4T0 OH BEPHETCA JTOMO# B 6 4acoB.

26.0H, HABEPHO, NPUJET BOBPEMSL.

27.13BecTHO, uTO JIOMOHOCOB OBLI CaMbIM KPYMHBIM YYEHBIM CBOETO

BPEMEHHU.

28.0Ha, no-BuaAMMOMY, 3a0b11a O CBOEM OOCIIAHUH.
29. 41 cnyyaiiHo ObLT J0OMAa, KOT/Ia OH 3aIle).
30. JIekumst BpsiJ1 1d OyA€T HUHTEPECHOM.

XIII. Complete the gap in each sentence with the correct form of the
verbs below using the structure Verb+object+the infinitive.

copy
1.

switch type get use work operate display

The Help facility enables wusers .............. advice on most
problems.
Adding more memory lets your computer ............... faster.

. Windows allows you ............... two different folders at the same
time.
The Shift key allows you ............... in upper case.

. The MouseKeys feature enables you ............... the numeric keypad
to move the mouse pointer.
ALT + TAB allowsyou ............... between programs.

. The StickyKeys feature helps disabled people .............. two keys
simultaneously.

. ALT + PRINT SCREEN lets you............... an 1mage of an active

window to the Clipboard.

X1IV. Translate the sentences into Russian using the structure
Verb+object+the infinitive.

1.

NN R W

S Xoten Obl, 4YTOOBI Bbl OOBSICHUIM MHE 3TO MPABUIIO €IIE Pa3.

Bbl cablmany koraa-HuOy1b, Kak OH NOeT?

OHU HE BUJICIIU, KaK 51 BOIIE B KOMHATY.

HUKTO HE OKKaaN, 4TO OHM YEIYT TaK CKOpPO.

[Tojararo, 4T0 OH HAJICKHBIM YEJIOBEK.

MpI curTaem, 4To 3TO OYEHb MHTEPECHBIN MIPOEKT.

S xoten Obl, YTOOBI MOKO CTaThIO ONMYOJIMKOBAJIM B HOBOM COOPHHUKE
Hay4HbIX paloT.
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8. Mbl OXMJIAEM, YTO KOHTPAKT OyJET 3aKIOUeH B Ojukaiiem
Oy Iy1ieMm.

9. 4 yBuzen, Kak MalIvMHa MOBEPHYJIA 3a YrOJ U CKPbLIACh.

10. JInuHHBIE YK 3ai1a TO3BOJISIIOT €MY CNBIIIATh MATCHIINN MOPOX.

11.Mopo3 saBuiICS NPUUKUHOI TUOEIN PACTEHUIA.

12.Y10 3acTaBUIO €r0 TaK paHoO TyAa MOEXaTh’?

13.Poaureny He pazpemianu ASTAM MO3JHO CMOTPETH TEJIEBU30D.

14. 41 HaxoKy, 4TO 3TO OUEHB CIIOMKHAS 33/1a4a.

15.41 3nato0, 4T0 3TO Mpasaa.

16. MBI HE O3KHIAJTH, YTO OH TaK OMO3/1acT.

17.0OHu 3acTaBuay €ro yoparb B KOMHaTe.

18.YT10 BBl XOTUTE, UYTOOKI 5 CACaN AJis Bac?

19. 51 nonararo, 4TO OH KBATU(PULIMPOBAHHKIH CIICLIUATIHUCT.

20. 4 61 X0TEN, YTOOBI BBl Y3HAJIM TOYHBIN aApecC 3TOi (YUPMBI.

21.4 cumraro, 4TO OH MpasB.

22. 51 mymaro, 4To 3TOT BOMPOC UMEET OUYE€HB OOJIBIIOE 3HAYEHHUE.

23.BpenHble BEIIECTBA SIBJIAIOTCA NPUYUHONW pa3pyLIEHHUS O30HOBOTO
CJIOA.

24 .51 XoTten, 4ToObI €ro MpUriacuiv Croaa.

25.51 Hax0Ky, YTO OH OYE€Hb COOOPAZUTEIbHBIN peOCHOK.

26.0H 3aCTaBUJI MEHSI ITPOYMUTATD ITY KHUTY.

27.0OHu pa3pemiuayg €My MOUTH HA KOHUEPT.

28.HuKTO HE 3aMETHJI, KaK OH BBIXOIWJI U3 JOMa.

29. 4 4yBCTBYI0, KaK KAKOE-TO HACEKOMOE TMOJI3ET MO0 MOEH HOTE.

30.YTo cTajmo npuYrHOM €ro Oro3aaHus?

ARTICLES and NOUNS

I. Explain the use of the indefinite article ‘a’, the definite article ‘the’,
and the ‘zero’ article ().

1. Generally, a computer is any device that can perform numerical
calculations — even an adding machine, an abacus, or a slide rule.
Currently, however, the term usually refers to an electronic device that can
perform automatically a series of tasks according to a precise set of
instructions. The set of instructions is called a program, and the tasks may
include making arithmetic calculations, storing, retrieving, and
_processing data, controlling another device, or interacting with a person
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to perform a business function or to play a video game. In an increasingly
computerized society, computer literacy, the ability to understand and use
computers, 1S very important. Knowledge about computers 1s a
requirement for getting many types of jobs.

2. Ball lightning, also called globe lightning, is an aerial phenomenon
that occurs as a moving luminous sphere several inches in _diameter. It
usually occurs near the ground during thunderstorms, may be red, orange,
or yellow in colour, and is often accompanied by a hissing sound and
distinct odour. It lasts only a few seconds and dies out suddenly, either
silently or explosively. Ball lightning has been observed to cause
_damage by burning or melting. Its relation, if any, to _common lightning
1s uncertain. Its causes are unknown, but among the explanations of _ball
lightning are the following: air or gas behaving abnormally; high-
density plasma; an air vortex containing luminous gases; and _microwave
radiation within a plasma shell.

I1. Decide whether these sentences are right or wrong.
1. T believe it’s very difficult to find a cheap accommodation in
London.
2. We’re looking for a place to rent.
3. We’re late because they’re resurfacing the motorway and the traffics
are terrible.
4. He was asked to leave the college because of a bad behaviour at the
end of term party.
5. I’'m going to phone my brother to wish him good luck for his driving
test.
6. I think it’s a pity Rebecca had her hairs cut short because she looked
much more attractive before.
7. It’s not a bad room, but the furnitures take up too much space.
As an old friend, may I give you an advice?
9. If we don’t have up-to-date information, how can we make sensible
decisions?
10.Fortunately, the check-up was less unpleasant experience than I
expected.

o0

II1. Insert articles where necessary.
1. I cannot find ... letter which you gave me this morning.
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2. ...clockin ... living room is slow.

3. ... garden which is at ... back of that house has ... tennis-court.

4. ... man who has no patience cannot play ...chess well.

5. My son has ... very good German teacher who knows ... language
perfectly.

6. ... large branch broken by ... wind lay across our path.
7. ... coal is one of ... most important natural resources.
8. ... most common kind of ... fuel used by ... man is ... wood.

9. Please cut ... grass in ... garden.

10.... milk which you bought yesterday turned sour.

11.... garden is surrounded by ... wall built of ... stone.

12.1s your shirt made of ... silk or ... cotton?

13.1 always drink ... boiled water.

14... . water which we drink in our towns is filtered at waterworks.
15.... thermometer is ... instrument for measuring ... temperature.

1V. Correct the mistakes in the sentences.

1. It's not a first-class accommodation unless it has a private bathroom.

2. On this record twins play piano duet.

3. The halfway through meal we realised what waiter had said.

4. If the Mrs Hillier phones, say I'm away on trip.

5. There 1s a wonderful scenery in eastern part of Turkey.

6. Cocker spaniel is one of most popular pet dogs.

7. There is going to be fog and a cold weather all the next week.

8. The burglaries are definitely on increase.

9. I spent very interesting holiday at the Lake Coniston in England.

10. We are against war in general, so of course we are against war like
this between superpower and developing country.

11. The time you spend on the relaxing pastime is good for you.

12.Don't you work in record shop in High Street?

13.A new campaign against the smoking is directed at the young
women.

14. The leader of the team is usually called captain.

15. A half the time I get phone call it's wrong number.

16.1 saw brilliant rock band perform at the Isle of Wight rock festival.

17.Do you know what the difference there is between the stoat and the
weasel?

18. At the half-time the both teams seemed in a difficulty.

19. The earthquake could easily damage the Channel Tunnel.
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20. A painting I like best is the one not for a sale.

V. Choose the most suitable article.

Helen doesn't like the/- cream cakes sold in a/the local bakery.

The/- basketball is fast becoming a/the popular sport worldwide.

We could see that the/- Alps were covered in the/- snow.

It's a/- long time since I met a/- lovely person like you!

Diana has a/- degree in the/- engineering from the/- University of

London.

At the/- present moment, the/- man seems to have the/an uncertain

future.

7. The/- problem for the/- today's students is how to survive financially.

8. The/- French enjoy spending holidays in the/- countryside.

9. Please do not turn on a/the water-heater in a/the bathroom.

10. At an/the end of a/the busy day, a/- sleep is -/the best tonic.

11.Brenda is the/- ideal for a/the job. She has a/- wealth of the/-
experience.

12. The/- safety at the/- work 1s a/- major concern for us.

13. The/- poorest people in the/- country live in this city.

14.She was a/the first woman to cross -/the Atlantic in the/a canoe.

15.There 1s a/- beautiful countryside within an/- easy reach of a/the
hotel.

16.1 have a/- terrible cold and am staying in the/- bed today.

17.1 earn £3 an/the hour as a/- supermarket cashier on the/- Saturdays.

18. The/- charge for an/- excess luggage is £ 10 a/the kilo.

19. The/- most of the/-life is a/- matter of getting on with the/- others.

20.This country is officially called The/- United Kingdom of The/-
Great Britain and The/- Northern Ireland.

SNk =
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VI. Fill in the articles where necessary.

Health Clubs
Are you shopping for (1) ... health club to join so you can get in shape?
Shop wisely! You could end up choosing (2) ... wrong club and losing
more money than pounds. You may find out too late that (3) ... health
clubs aren't for you. (4) ... San Diego fitness experts recommend
thoroughly checking out several health clubs before you join one. First,
know what you want and need in (5) ... fitness facility, and don't pay for
what you'll never use. If you only want exercise classes, (6) ... exercise
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studio without weight machines and locker rooms may work for you. If
you're looking for (7) ... place to only do bodybuilding, you'll be happy in
a basic gym. You may be in (8) ... market for a full-service health club;
then, make sure it offers lots of activities. Look for a place near your
house, and check out (9) ... exercise instructors and personal trainers.
They should be educated in physical education or certified by (10) ...
organization such as the American Council on exercise. Certified
instructors have at least some knowledge of anatomy, exercise physiology,
injury prevention and (11) ... cardiopulmonary resuscitation (CPR). You
should evaluate (12) ... equipment and make sure fitness machines are
modern and in working order. Try to talk to other members of the club.
Find out what they believe are (13) ... advantages and disadvantages there.
Look in (14) ... locker room, workout room, and shower--everywhere
should be clean. (15) ... locker room sanitation is usually a good
indication of how clean other areas are. Finally, before you sign (16) ...
agreement to join, read the contract carefully.

VII. Add articles where necessary.

1. Camera is piece of equipment used for taking photographs. Camera
lets i light from 1mage in front of it and directs light onto photographic
film. Light has effect on chemicals which cover film and forms picture on
it. When film is developed it is washed in chemicals which make picture
permanent. It is possible to print picture onto photographic paper.

2. Space satellite does not need to be streamlined in order to fly since
there is no air in space to slow it down. However, it does need source of
energy to power its electronic circuitry, so satellite has large solar panels
that convert sunlight into electricity. In addition, it is necessary for satellite
to stay in exactly right position so that its antennae face radio stations on
ground. For this reason it is equipped with gas thrusters which can move
satellite into correct orbit, high above Earth.

VIII. Translate the sentences into English.

4 cipocuit coBera y Bpaya.

KakoBbI OC/IEIHUE HOBOCTH O X0JI¢ BBIOOPOB?

Bo Bpems noxkapa B 3/JlaHMU LAPUJIO TOJTHOE CMSTEHUE.

Ero ¢upma pazBanuinach, M BCe IEHbI'M ObLIIA MOTEPSHBI.

KHura coaepikuT LEHHYHO HWHQOpMauuioo s IoJb3oBarelieii
KOMIIbIOTEPOB.

M
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6. Komnanuss oOpatunack B Cyd, JUIE TOMO 4YTOOBI  MOJYYHUThH
pa3peIeHUE U3MEHUTD YCIIOBUSI KOHTPAKTA.

7. Bo BpeMms Halero OTIYyCKa Mbl MOJYYWIM MHOIO MPUITHBIX
BIIECYATJICHUIA.

8. Jlnst 5TOi paboThl HY:KEH OOJIBIION OMBIT.

9. CHauana g JOJDKEH 3aiiTh B OaHK IOMEHSTH JEHBI'HM, a IMOTOM
3a0€Karh HAa MOYTY, YTOOBI KyITUTh MAPKH.

10. TTonuumsa oOHapyskuiia NPECTyNHUKA?

11.Y menst Gonut 3y0, MOATOMY NPUAETCS 3anucarhCs Ha TMPUEM K
JAHTUCTY.

12.Ham peiic 3aaepkaim, Tak 4YTO MbI NPOKAAIA YETHIPE 4Yaca B
a’poropTy.

13. 41 yacTo CMOTPIO TEJIEBU30P U CIYIIAK Paaro, YTOOBI OBITh B Kypce
MOCJICTHUX COOBITHIA.

14. B ropoike, rae st >KUBY, HET HM OJIHOTO KMHOTEATpa.

15.OH cuzen B THOPbME 32 CBOM MOJIMTUYECKUE B3TJISIIIBI.

16.[IpaBuUTENBCTBO COOMPACTCS YBEJIUUUTH HAJIOTH.

17.TlepcoHan HEJOBOJIEH YCIOBUSAMM pabOTHI.

18. Bo Bpemst Kpasku ObLIO MTOXMIIECHO HECKOJIBKO ThHICAY JIOJUIAPOB.

19. 51 He moOII0 MHOTO €CTh Ha 3aBTPaK.

20. KpeauTHas kapTouka — yJA00HBIM COCO0 OMIarhl MOKYIIOK.

21.Kakoii knumar Ha 3kBarope?

22 . 1Tonop — 3T0 MPUCIIOCOOJEHHE 11 OTKPHIBAHUS Oy THLIOK.

23.0H 3aKOHYMJI IIKOJY B MPONUIOM TOJy W Cpa3y MNOCTYNWI B
YHUBEPCHUTET.

24 benplii HOCOPOT HAXOIUTCS HA TPAHU BBIMHUPAHMSL.

25.Kutaii — 370 cTpaHa ¢ ObICTPO PacTyIlMM HACEJICHHUEM.

26. KapTUHKM WHOT 1A MOMOTAKOT 3alIOMHUHATH 3HAYEHUE HOBBIX CJIOB.

27.1locTpanaBiivx OTBE3IM B OOJbHUILY.

28.KTO 13 KOCMOHABTOB NEPBBIM JIETAT B KOCMOC?

29. ABTOOYC — 3TO pacnpoCTPAHEHHOE TPAHCHOPTHOE CPEJICTBO.

30.3T0 O4YEHb UHTEPECHBII BUJI PACTCHUI.
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ADJECTIVES and ADVERBS
I. Put the adjectives in brackets in the correct degree of comparison.

The Trans-Siberian railway is (long) in the world.

The twenty-second of December is (short) day in the year.

Iron is (useful) of all metals.

Elbrus is (high) peak in the Caucasian mountains.

His plan is (practical) than yours.

This room is (small) than all the rooms in the house.

London (large) city in England.

Silver is (heavy) than copper.

This exercise 1s (good) than the last one.

10 My cigarettes are (bad) than yours.

11. Yesterday was (hot) day we have had this summer.

12.The company’s annual report shows that profit figures were (low)
than the previous year.

13.This 1s (beautiful) view I have seen in my life.

14. This house 1s much (spacious) than our flat.

15.He spoke to me in (pleasant) manner possible.

16.Even (carefully) prepared plans can go wrong.

17.Reykjavik 1s the world's (northern) capital city.

18.Don't worry, you'll be OK with Gerry, he's (careful driver) you could
wish to have.

19.In the Alto Adige region of Italy, German dialect is spoken much
(frequently)...................... Italian.

20.Sumo wrestlers must be (heavy) athletes in the world.

O 0NN LA W~

Il. Complete the sentences with an appropriate comparative or
superlative adjective.
alike  common complex confident  forceful hot likely
relaxed  simple wide
1. I feel much ... now that the exams are over.
2. Our new car is a little ... than our old one, but still fits easily into the
garage.
3. Her latest speech was strong and confident, and some people now
consider her to be the ... figure in British politics.
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4. Now that they had both had their hair cut, the twins looked even ...
than usual.

5. Throughout the match, Barcelona looked the ... winners.

6. Scientists claim that oil pollution is now the ... cause of death among

sea birds.
7. The last exam was quite easy and I began to feel ... about my results.
8. Another, even ..., computer had to be designed to control the

environment of the space station.
9. It’s been the ... day in London for 35 years.
10. This exercise is too difficult. I think you should make it .

II1. Fill the gaps in the following presentation with these expressions of
comparison.

a. there is no comparison g. much better

b. much wider h. considerably lower

c. more reliable than i. in comparison with

d. much more up-market J. slightly more economical than
e. more efficient k. a lot faster than

1. slightly less expensive . more solidly built

If we compare these two models, you can see immediately that Car X
has considerable advantages (1)............ Car Y. First of all, there is the
question of price. At £18,000, Car X 1s (2)............ Car Y, which costs
£18.250. Secondly, there is the question of fuel economy. On average, Car
X will do 20 kilometres per litre and this makes it (3)............ Car Y, which
averages 19.2 kpl. Then we come to the question of speed. X has a top
speed of 190 kph and this is (4)............ Y, which can only reach 150 kph.

As far as maintenance is concerned, (5)............. - with Car X we offer
a 2-year guarantee for all parts and labour and this represents a
(S) deal than Car Y, where there is only a 6-month guarantee. In
addition, with X we can also provide a (7)............ service network than the
competition. Another factor to consider is that of reliability. Tests have
shown that Car X is (8)............ Car Y in every respect. The engine i1s
(C) F— , the bodywork is (10)............ and the running costs are
(1), Finally, there is the question of image. Here there is no doubt
that Car X has a (12)............ image than Car Y, as is confirmed by all our
market research.
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1V. Using the language in the boxes below, complete the comparisons
between the two couples as in the example.

slightly nearly much/far
about twice as much as
more/less/fewer half considerably
exactly five times as many as
a great deal over
MARTIN |FIONA |RUPERT |RACHEL

Age 39 42 37 29
Height Im77cm  |Im68cm |Im 76cm  [Im 65cm
Weight 96kg 48kg 75kg 59%g
Working day Ohrs 5.5 hrs 6 hrs 3 hrs
Annual income £42.,000 £16,500 |£32,000 £8.000
Exercise per week | hrs 2 hrs 4 hrs 1.5 hrs

1. (AGE) Rachel is considerably younger than Fiona.

2. (AGE)Martinis...........ccocoeeeeennnn... Rupert.

3. (WEIGHT) Fiona weighs............................ Martin.

4. (WEIGHT) Martin weighs............................. Rupert.

5. (HEIGHT) Rupertis........cccccoooeenneeenn. Martin.

6. (HEIGHT) Fionais.........c......c.cce...... Rachel.

7. (WORK) Martin works...................cc........ Rachel.

8. (WORK) Fiona works................ccc.......... Rupert.

9. (INCOME) Rachel earns............................. Fiona.

10. INCOME) Martin earns...............cc............ Rachel.

11. (EXERCISE) Rupert takes............................ Martin.

12. (EXERCISE) Rachel takes................c............ Fiona.

V. Translate the following sentences into English using the degrees of
comparison of adjectives.

1.DeBpasib — CcaMblii KOPOTKHUI MECSALL B TOMY.

2.CeroiHs 3HaYMTENIBHO XOJIOIHEE, YEM BUEPA.

3.BOJIBIIIMHCTBO MOMX JIPY3€i 3aHUMAKOTCS CIIOPTOM.

4. BONBIWHCTBO JOJACH TIOOUT PPYKTHI.

5. BOJIBIY O YACTh KU3HU OH IMTPOBEJI 32 TPAHULIEH.

6.2T0 OIMH U3 XYAIIUX PE3YJbTATOB B KJIACCE.

7.0T0 OJIMH U3 CaMbIX BAKHBIX IMYHKTOB B JOKJIAJE.
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8.0T0 camas pacrpocTpaHeHHas OMHOKa.

9.JleTsim caeayeT MPOBOJUTH MEHBIIIC BPEMEHH 32 KOMITBIOTEPOM.

10.3ganne MI'Y — 071HO U3 caMBbIX BBICOKHUX 3/1aHUT MOCKBHEL.

11.Ceroass Mbl nucanu 00Jiee TPYAHBIM TUKTAHT, 4YEM BYEDA.

12. Maremarrka — 0JiHa U3 CaMbIX CIIOKHBIX HAYK.

13.2T0T TEKCT camblii TPYAHBIM W3 BCeX pabOT, KOTOPHIE MBI KOTJa-
100 NEPEBOUIH.

14.9T0 04HO W3 HAMMEHEE M3BECTHBIX W HaW0OJIEE OTIAANECHHBIX MECT
3€MHOTO 1Iapa.

15. JlanpHelimee UCCae0BaHrE MOKAKET, ObLIA JIM MBI TTPaBbl B HAIIKX
MPEANOTOKEHUSX.

16.Yem crnokHee 3agaya, TeM OOJBIIE BPEMEHM TPaTUTCS Ha €€
pELICHUE.

17.Yewm Oosbiiie OO BBl 3aKa3bIBAETE B PECTOPAHE, TEM JOPOKE BaM
oOxoauTcs 00e.

18.Yem gmonwpmie oH OyaeT ocTaBaThCsAd 3a TPAHMLICH, TEM MEHEE
BEPOSATHO, YTO OH BEPHETCS Ha3al.

19. UeM no3xe OH BCTAET YTPOM, TEM MEHBIIE BPEMEHH Y HETO OCTACTCSA
Ha BaYKHBIE JIEA.

20.Yem Oousbiie ctaHoBuTcs EBponedickuii Coro3, TEM HEH30€KHEE
pa3HOIIacusi MEXy €r0 YHaCTHHUKAMM.

VI. Turn adjectives given in brackets into adverbs.
. I drove (straight) home.

. We came to work (early).

. She (quick) filled in the answers.

. He likes to drive (fast).

. We proceeded (cautious).

He threw the ball (high) into the air.

How (good) do you know her?

We arrived (late).

. They did the work (bad).

10. He spoke (little).

11. The gathering is held (annual)

12. They replied (immediate).

13. The workers met (weekly).

14. T will deal with that problem (first).

15. They were (suitable) dressed for the occasion.
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VII. Complete the sentences with the correct forms of adjectives or
adverbs of the words in brackets.

1.
2.
3.
4
3.
7.

3.
9

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.

20.
21.
22.
23.
24.

They have a (wide) front lawn.

He has challenged a (wide) held theory.

Every author likes to receive (favourable) book reviews.
(Favourable) situated farms often produce higher yields than other
farms.

Many (previous) incomprehensible phenomena have been
explained with the help of modern science.

Many (previous) city councils have succeeded in balancing the
budget.

(Unusual) weather conditions have prevailed for the past ten days.
An (extreme) large number of variables must be taken into account.
(Relative) few people understand the situation.

She wrote a (humorous) short story.

That was a (frequent) occurring event.

Our city boasts a (frequent) bus service.

It was a (hot) Easter Sunday.

It was a (hot) debated issue.

The moon appeared (brief) between the clouds.

He looked (happy).

He looked (attentive) at the timetable.

We felt (sleepy) after supper.

After the lights went out, we felt our way (sleepy)
to our rooms.

The sky grew (dark).

He became (excited) at the thought of giving a speech.

She became a teacher (immediate) after graduating.

The pastries smelled (sweet).

We (eager) smelled the aroma of fresh bread.

VIII. Choose the correct form of adjectives and adverbs.

Well, here I am in England. Thank you for your kind / kindly letter. You
ask me what’s it like here. I must say, it’s pretty good / well. The language
school is very efficient / efficiently organised. On the first morning we had
to do a test, which I found rather hard / hardly. However 1 got a surprising
/ surprisingly good mark, so I’m in the second class. I didn’t talk much at
first, because I couldn’t think of the words quick / quickly enough, but late
/ lately I’ve become much more fluent / fluently. I’'m staying with a family
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who live near / nearly the school. They are quite pleasant / pleasantly
although I don’t see much of them because I’'m always so busy / busily
with my friends from school. I was surprised how easy / easily I made new
friends here. They come from different / differently parts of the world and
we have some absolute / absolutely fascinating discussions. I do hope you
will be able to join me here next term. I’'m sure we’d have good / well fun
together.

IX. Decide whether these sentences are right or wrong.

NNk LW =
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‘Please get a move on!” shouted Trevor impatient.

I believe she is a very lonely woman.

I didn’t like his plan, which seemed unnecessary complicated to me.
I’m sure you could win the match if you tried hardly.

I have an awful headache, so could you please be quiet.

Soraya’s only been in France a year, but she speaks perfectly French.
The reason Bruce gets so tired is that he has an exceptional
demanding job.

My mother was very ill last year, but she’s good enough to go on
holiday now.

David ran as fast as he could but he still arrived late.

10.In spite of the fact that Jean always says she’s short of money, I

happen to know she actually has a very good-paid job.

PRONOUNS, DETERMINERS, and CONJUNCTIONS

I. Complete these sentences with the following pronouns.

M

no any

none anyone (anybody)
no one anything

nothing anywhere
nowhere

The bus was completely empty. There wasn’t ... on it.
‘Where did you go for your holidays?” .... I stayed at home.’
I couldn’t make an omelette because I had ... eggs.

I didn’t say .... Not a word.

The accident looked serious but fortunately ... was injured.
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6. The town was still the same when I returned years later. ... had
changed.

7. We took a few photographs but ... of them were very good.

8. I can’t find my watch .... I've looked all over the house.

9. ‘What did you have for breakfast?” “.... I don’t usually have ... for
breakfast.’

10.We cancelled the party because ... of the people we invited could
come.

11.... intelligent person could do such a stupid thing.

12. There was complete silence in the room. ... said ....

13. ‘How many cinemas are there in this town?” *.... The last one closed
six months ago.’

14.The four of us wanted to go to a restaurant but we couldn’t because

.. of us had ... money.

IL. Fill in the gaps with ‘who’, ‘whom’, ‘whose’, or ‘which’.

1. Most students ...live in residence find it easy to make friends.

2. My best friend, ... I see every day, always has something new to tell
me.

3. Our neighbours, to ... we lent our lawnmower, are conscientious and
considerate.

4. The volunteers, ... enthusiasm was obvious, finished the work
quickly.

5. The musicians ... we heard yesterday have played together for many
years.

6. Parents ... children do well in school usually consider themselves

fortunate.

Children ... like music are often good at mathematics.

The student to ... the prize was awarded had an impressive record.

My friend, ... I Vrsrted last week, 1s taking a holiday soon.

O The class treasurer to ... we gave the money, announced the balance

of the account.

11.The engineers ... designed the building received an award.

12. The townspeople, ... pride in their community is well-known, raised
enough money to build a new town hall.

13.The window ...is open is the kitchen window.

14.The girl ... recited the poem 1s my niece.

15.The woman to ...we were introduced was quite helpful.

S 0%
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16. The opportunity to ... she owed her success came unexpectedly.

17.The man ... they trusted was unreliable.

18.The book ... you read 1s the best book by that author.

19.The Pacific Ocean, ... may have been crossed by raft during the
Stone Age, 1s the world's largest ocean.

20.His mother, ... he visited frequently, ran her own business.

21.The boy, ... was friendly and intelligent, soon found work.

22.Her husband, to ... she told the story, was just as surprised as I was.

23.The pictures, ... were taken in Algeria, were very striking.

24.The newspaper to ... we subscribe is delivered regularly.

II1. Choose the correct word or phrase.

Last week I made the mistake of revisiting the village where I grew up. It
was a small, friendly community with two farms and a number of old
cottages round the village green. I realised very quickly that although in
many / few ways it appears unchanged, in reality hardly nothing / anything
is the same. All / Every the pretty cottages are there, of course, and both /
most the picturesque farmhouses. But none of the / none of inhabitants are
country people. All of they / them are commuters, who leave early every
morning / all the morning for nearby town. Neither of / Neither the
farmhouses is attached to a farm these days; the land has been sold and is
managed by somebody / anyone in an office anywhere / somewhere who
has little / a little interest in the village itself. There are few / a few houses,
but they have no / none of local character; you can see the same style
anywhere / somewhere in the country. The whole / Whole of the village, in
fact, has been tidied up so much that it has become anything / nothing
more than just another suburb.

1V. Fill in the gaps with the following expressions.

a few a lot of much of

a great deal a majority of plenty

a little enough several of

a lot many some
I. 'mhaving ............... of trouble passing my driving exam.
20 i, the movies were rated PG.
3 . information proved to be outdated.
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7.
3.

9.

. We're close to the project deadline, but there 1s still ...............

time left.

. Although there are ............... brilliant students in this state, only

............... will choose to remain in the state after graduation.

We were able to destroy ............... the parasites with our antigen,
but ............... of them survived to cause trouble.

............... a student has passed through these doors.

Although ............... of the lawn 1s open to the sun, there are of
shade trees to make it comfortable.

I think he drank ............... wine last night.

10, ..., the evidence was taken from the police safe last night.

V. Decide whether these sentences are right or wrong.

1.

2.

3.
4.

el

3.

9.

He shouted at all of students although most of us had done nothing
wrong.

Can anyone use the tennis courts or only college students?

What a boring town! There are not good restaurants, nothing!

I think he was lonely because he had a few friends and none of his
neighbours ever spoke to him.

We can’t use this room because there are no chairs in it.

I’ve wasted two hours because the whole information you gave me
was wrong.

When I got on the plane the steward told me I could have some seat
because there were so few passengers on the flight.

You can't borrow money from me because I have no. My brother’s
already borrowed it all.

I don’t know whether our scheme will in fact make a profit, but any
money we do raise will be given to charity.

10.1 feel so embarrassed that all know my problem. I wish you hadn’t

said anything.

VI. Fill in the gaps with the correct word chosen from the pair given in
brackets.

1. I have three winter coats, but ... of them are new. (neither, none)

2. There are two umbrellas here, but ... of them is mine. (neither, none)

3. He owns twelve cows. ... of them are Jerseys. (All, Both)
4. She has painted dozens of pictures. Have you seen ... of them? (any,
either)
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5. Amy and Beth are twins. They ... play the guitar. (all, both)
6. Two people said "Hello" to me, but I did not recognize ... of them. (any,
either)

7. My wife and 1 ... enjoy classical music. (all, both)
8. I found all of the questions difficult. Did you answer ... of them
correctly? (any, either)

9. I asked six different people, but ... of them knew where Walnut Street
was. (neither, none)

10. My friends and I would like to thank you for your hospitality. We ...
enjoyed ourselves very much. (all, both)

11. There are two public libraries in the city, but ... of them is located
close to where I live. (neither, none)

12. Two wrist watches were left here. Is ... of them yours? (any, either)
13. He has three nephews. ... of them have graduated from university.
(All, Both)

14. 1T have two violins. You are welcome to use ... of them. (any, either)
15. My aunt and uncle are ... coming for a visit. (all, both)
16. George and Tom like playing chess together, but ... of them likes to
lose a game. (neither, none)

17. The bush is covered with blueberries. Are ... of them ripe yet? (any,
either)

18. I have read five books on the subject, but ... of them were very helpful.
(neither, none)

VII. Complete each of the following sentences by filling in the gaps with
the correct determiner chosen from the pair given in brackets.
1. There are ... ducks in the park. (many, much)

2. ... water is left in the pond. (few, little)

3. ... authors are as famous as Shakespeare. (few, little)

4. How ... rice do you have? (many, much)

5. There are ... books on the subject which she has not read. (few, little)

6. ... attention has been paid to the importance of the mass media. (many,
much)

7. ... people prefer soccer to football. (many, much)

8. There are ... stores downtown than there are in the suburbs. (fewer, less)
9. ... information was available. (few, little)

10. ... sports are as fast-paced as hockey. (few, little)

11. She made the ... mistakes of all the children in the class. (fewest, least)
12. ... work remains to be done. (few, little)
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13. There is often ...wind in the evening than there 1s at midday. (fewer,
less)

14. He does not have ... money. (many, much)

15. He did the ... work of all the boys in the class. (fewest, least)

16. She told ... stories to amuse the children. (many, much)

VIII. Translate the sentences into English using various pronouns and
determiners.

MR B =
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21.
22.
23.
24.
25.
26.

27.
28.

HukTo HE HABECTUII MEHs, KOoraa s ObL1 OOJICH.

Hu oHa rocyaapcTBeHHasi CUCTEMA HE SIBJISIETCSI COBEPILICHHOIA.
MHE HUKTO HMYETO HE CKa3all.

Cpeny TypucTOB HE OBIJIO HM OJTHOTO aHIJIMYaHUHA.

HMKTO 13 HAC HE MOT MTOHATh, YTO MPOUCXOJIUT.

OKO0J10 MOCOJILCTBA HE OBIJIO HU OJHOTO MOJIMLEHCKOTO.

Ham He moMor HU OJJMH U3 BalllMX COBETOB.

51 3BOHUII €My HECKOJIBKO Pa3, HO HUKTO HE OTBEYall.

Bce KHUIrM oKa3aauch OYEHb MHTEPECHBIMM.

HekoTopbie U3 MOUX JApYy3€i YKE BUACITH 3TOT (PUIIbM.

. Sl HUKy1a HE COOMParOCh.

ThI ObIBaN rA€-HUOYIb 3a TPAHULICH?

. KT0-TO X0U€ET ¢ BaMu NOroBopuTh Mo TeJIePoHy.
. Tebe KynuTh 4TO-HUOYIb B anTeke?

. Bam nro0oii ckaxeT, riae HaXOaUTCs STOT JIOM.

. HukTo He 3a0b11 Oarax B noes3ue?

HekoTopsie U3 Bac y»e BCTPEUAIUCH C ITUM YEJIOBEKOM.

. Caplmajy, 4To OH yexall KyAa-TO JajeKo.

qume 3HATh XOTb IITO-HI/I6YI[B, M Hp€6BIBaTB B HCU3BCCTHOCTH.

. Sl Oyny pan mo0Ooii uHGOpPMALMM, KOTOPYIO BBl CMOMKETE MHE

MPEAOCTABUTD.
Takoe MOKET IPOU3OUTH C JIIOOBIM YEJTOBEKOM.

JIt000i MOKET JIOIMYCTUTh MOA0OHYIO OIIHOKY.

Bbl BCTpeTHIA KOrO-HUOYIh U3 3HAKOMBIX Ha KOH(pepeHI N ?

S Mory BaM 4eM-HHOY b TOMOYb?

BbI MOJKETE paccka3aTh HaM YTO-HUOYb 00 3TOM cTpaHe?

Y Hac BO3HMKJIM HEKOTOpPBIC MPOOJEMBI C OpraHu3alued >TOM
BCTPEYH.

[ToTOpONHUCh, y HAC OCTAIIOCH MAJIO BPEMEHH.

VY HEro €cTb HECKOJIBKO UHTEPECHBIX CTATEH.
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29. Mano mojieii 3HaeT 00 YTOM COOBITHH.
30. VY Hac eme ecTh HEMHOTO €151 B XOJIOIMTHHUKE.

IX. Fill in the gaps with the correct conjunctions chosen from the pairs
given in brackets.
1. Topened the door ... looked out. (and, yet)
She was not in the back yard, ... was she upstairs. (or, nor)
The sun had set, ... it was still light outside. (or, yet)
He has not arrived yet, ... have they. (and, nor)
We searched diligently, ... found nothing. (or, yet)
We recognized her at once, ... we had not seen her for years.
(although, in case)
7. He kept reading ... he fell asleep. (for, until)
8. The moon will rise ... the sun sets. (as soon as, than)
9. Itlooks ... the train will be late. (while, as though)
10. We will not go skiing ... the weather is good. (as if, unless)
11.... I told the truth, you would not believe me. (Even if, So that)
12. They have known her ... she was a child. (until, since)
13.1 must leave now, ... I have a great deal of work to do. (as, than)
14. What shall we do ... it rains? (or else, supposing)
15.1 studied more ... he did. (than, whereas)
16. We packed a lunch, ... we knew we would soon be hungry. (lest, for)
17.1 will join you, ... the weather is fine. (providing, than)
18. We stayed up late, ... we were tired. (although, despite)

SANRANE

19.They went swimming, ... the coldness of the water. (although,
despite)

20.1 enjoy the course, ... the professor is a good teacher. (because,
because of)

21.Please wait ... [ make a phone call. (during, while)
22.1t looked ... we would not be able to leave until the next day. (as if,

like)
23.... she lost her way twice, she arrived safely. (Although, Despite)
24.... their interest in comets, they decided to study astronomy.

(Because, Because of)
25.She studied for many months; ..., she knew the material thoroughly.
(consequently, so that)
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REVISION
I. Common Mistakes: How would you fix these mistakes?

He speaks well Germany.

I said him he had done a mistake.

He travelled with boat and arrived to Helsinki yesterday.

She is a too clever woman to stay in a so boring job.

Never I have seen such an excited film.

We arrived to Stockholm for two hours ago.

The news are in the television soon.

What means gibberish please?

In spite of he was tired, his wife made him to wash dishes.

10 He is living by his aunt on the country.

11.1 was given lots of advices about buying new furnitures.

12.He got married with a Swedish in last year.

13. They have spared carefully their money.

14. They are living there during six months.

15. Are you still interesting to do a trip to Lapland?

16.The city of Tampere is full of fabrics, though it is surrounded by
some lovely nature.

17.1n near future I shall be going to abroad in every case.

18.1n Finland we are used to live in a cold climate.

19. The company was grounded in 1903.

20.1 could not be without laughing when he explained it me.

RN AW~

I1. Quiz: ‘The Titanic’

1. The Titanic _ in Belfast (Ireland).

a. had been built b. was built c. was being built

2. The Titanic represented the @ word in ocean-going science and
luxury.

a. last b. latter c. late

3. The ship started  maiden voyage on April 10th, 1912.
a. her b. your c.it

4. The Titanic  an iceberg and  on the night of April 14th, 1912.
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a. striked, sank b. struck, sank c. struck, sunken

5. One of the Titanic's distinguishing features that it was .
a. was, unsinkable b. was, nonsinkable c. were, unsinkable

6. It's believed that of the 2,224 people  board, about 1,500 did not
survive.
a. in b. at C.on

7. On the lifeboats there was _ for half of the passengers.
a. enough room to only b. enough only room C. only
enough room

8. The great majority of the passengers  survived were travelling first
class.
a. whom b. who c. which

9. Women and children were given priority men when the lifeboats
were lowered into the sea.
a. to b. over C.on

10. Nobody  that this was the greatest marine disaster of all time.
a. must deny b. can deny c. has to deny

III. Miscellaneous Grammar Quiz.

1. In the sentence, "You may be wrong, but you may be right”, ‘may’
means:

a. ability

b. permission

C. possibility

2. Inwhich of the statements does "must" express necessity?
a. There's somebody in the other office. It must be my boss!
b. You mustn't smoke here!

c. I must go right now!

3. In which of the sentences can "since" be replaced by “because”?

75



a. I have enjoyed science since I was a child.
b. I am interested in this article since I like science.
c. I've been studying science since 1988.

4. Choose the alternative in which "while" is being used to express a
contrast.

a. While the machines are working, let's have some coffee.

b. I usually take a shower while my mom is preparing breakfast.

c. My dad is a dreamer, while my mom is too realistic.

5. Choose the correct statement.

a. Many people have computer phobia, that generates more
unemployment.

b. Many people have computer phobia, which generates more
unemployment.

c. Many people have computer phobia, what generates more
unemployment.

6. "I'm a person ... technical knowledge of computer will impress anyone."”
a. who
b. which

c. whose

7. The Internet, ... is the fastest means of communication, will be available
for most people very soon.

a. which

b. that

C.—

8. Which is the best sentence?

a. I've smoked, but I don't anymore.

b. I used to smoke, but I don't anymore.
c. I smoked, but I don't anymore.

1V. Choose the correct variant.
1. 1 want a dozen /a dozen of eggs, please.
2. He was really strange. He didn't talk to nobody/anybody in his class.
3. Please give him the other/another chance.
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4. Being considerate means thinking about others/the others not only
about yourself.

5. Please turn off the lights. I have to develop this film and it's bright
enough/too bright here.

6. You shouldn't take too much/too many luggage. You'll stay there for
only two days.

7. The more/The most he studies, the less/the least he seems to know.

8. I have been studying so hard as/as hard as 1 can to learn English.

9. They finally decided to buy a four-doors/four-door car.

10. Whatever/Whoever cheats on the test will be caught sooner or later.

11.He said he had done it, which/what was not true.

12.To whom/To who did you give it to?

13.1 wasn't there and neither was Mary/Mary was neither.

14.1 haven't finished the homework and my brother hasn't neither/either.

15. What's he like/How is he? He's tall and thin.

16. Doing/Do it regularly takes a lot of will power.

17.No news are/is good news.

18.Students won't be able to take notes if the teacher speaks/will speak
fast.

19.She's looking forward to meet/meeting her husband's parents.

20.1 used to smoke/smoking a lot when I was in college.

21.He told me not to go/to not go there.

22.She has been waiting/has being waiting for the doctor for two hours.

23.Seldom [ have talked to/have I talked to such an intelligent man.

24. A small number of visitors is expected/are expected to come to the
meeting.

25.The boss insists that you are/that you be here on time.

26.You should have told/should to have told the truth then.

27.You don't have to/mustn't kill animals; it's cruel and unlawful.

28.Look how wet the ground is. It must have rained/should have rained
last night.

29.John wishes he were/had been taller so he could play basketball.

30.She doesn't remember who the author of this book is/who is the
author of this book.

V. Choose the correct answer.
1. She was angry  being left alone.
a. with b. at
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2. That woman dressed  is my neighbour.
a. 1in black b. with black

3. I'm sure there's no secret between
a. youandI. b. you and me.

4. I'must __ the bill today.

a. pay b. pay for

5. The dentist told him __ forget to brush his teeth before going to bed.
a. not to b. to not

6. _ such abad accident.
a. Never I have seen b. Never have I seen

7. 1 don't know where

a. the bookstore is. b. 1is the bookstore

8. She has just finished reading  chapters of the book.
a. the two first b. the first two

9. What _ this is!

a. delicious coffee b. adelicious coffee
10.He was __ for murder.
a. hung b. hanged

11.He's  a man that nobody likes him.
a. so stubborn b. such stubborn

12.Hemingway and Steinbeck are excellent writers, but I prefer

a. the last b. the latter
13.They are using new ____ in their industry.
a. machineries b. machinery

14.John, as well as his brother,  coming to the party.
a. 1s b. are
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15.  we walked home.

a. After b. Afterwards
16.He flunked biology. Now he wishes he  more.

a. studied b. had studied
17. he is right or wrong does not concern us.

a. Whether b. If
18.1t's mandatory that he __ there on time.

a. 1s b. be

VI. Choose the correct answer.

1. Thatis  you are poor.

a. why b. that c. which
2. Tcouldn'thelp  when he told me that story.

a. laugh b. laughing c. tolaugh
3. Theard him .

a. sings b. sing C. sang
4. The place  we used to study is no longer a school.

a. whom b. at c. where
5. Heis _taller than you.

a. very b. so c. much
6. Janeis _ than her sister.

a. more tall b. tall c. taller
7. There are  books on my desk.

a. little b. alittle c. afew
8. The supermarket  their prices last week.

a. rose b. raised c. hasrisen
9. Shakespeare  in 1616.

a. died b. has died c. was died
10.He wished he  better.

a. do b. did c. had done
11. __ to go to school.

a. can b. have c. must
12.Would you  opening the window?

a. go b. mind c. please
13.Did you enjoy _ with your girlfriend?

a. walked b. walking c. towalk
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14.1  rather die than spend the rest of my life in prison.

a. will b. would c. might
15.He  be afool to do such a thing.

a. can b. must
16. That question is _ important to be neglected.

a. so b. too C. very
17.1had my car .

a. clean b. cleaned
18. Tamnotas  at swimming as you are.

a. good b. well
19.Neither my brother nor I rich.

a. am b. are C. IS
20.1saw her by the door.

a. to stand b. standing c. stood
21.Please take good care _ your mother.

a. about b. of c. to
22.  my way to school, I stopped at the post office.

a. At b. In c. On
23.1 bought this car  four thousand dollars.

a. by b. for c. with
24.1had  money, so I couldn't buy lunch.

a. little b. alittle
25.Please speak a little slower. I can _ understand you.

a. hard b. hardly
26.1 am notused  driving this car.

a. for b. of c. to
27.1getup  seven.

a. at b. in c. to
28.1didn't see  of those movies.

a. any b. none
29.There were _ people at the party.

a. any b. many
30.Thave a  money in my pocket.

a. few b. little
31.This place is famous __ its good-tasting rice.

a. by b. for c. with
32.1go toschool  foot.

a. by b. on c. with
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33.1 have lived here  many years.

a. during b. for
34.My brotheris  of the two.

a. taller b. the taller
35.This news __ interesting.

a. was b. were

VII. Proficiency Test Nl
a) Part I: Select the best answer.

1. You to attend the meeting on Thursday.
(A) must

(B) have

(C) required

(D) be

2. New York ironweed with its small, dark purple thistle flowers,
sometimes to a height of eight feet.

(A) grows

(B) growing

(C) 1t grows

(D) up

3. With its antlers the feet of a duck, the North American
moose is easy to identify.

(A) web-like

(B) webbed like

(C) like a web

(D) the webs like

4. The instructions for this model are as possible.
(A) clearly more defined
(B) as clearly defined

(C) as defined clearly
(D) more clearly defined
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5. several weeks for a person to starve to death, but without
sleep the human body dies in about 10 days.

(A) Usually taking it

(B) Usually takes it

(C) It usually takes

(D) To take it usually

6. that you borrowed his car, he would be very angry.
(A) Ever were Matt to find out
(B) Were Matt ever to find out
(C) Matt were ever to find out
(D)Were ever to find out Matt

7. Newly installed gypsum board walls before they are
painted.

(A) with a sealant coated

(B) should coat with a sealant

(C) should be coated with a sealant

(D) coating with a sealant

8. Although the colour television set almost every American
family now owns at least one.

(A) arecent invention is

(B) is a recent invention

(C) recent 1s an invention

(D) 1s it a recent invention

9. Descendant of a long line of New Englanders, Robert Lowell chose, in
his early poems, against his background of Bostonian
eminence.

(A) for reacting

(B) to react

(C) reacted

(D) to the reaction

10. In most cases the current balance available in a checking or savings
account

(A) can be verified by telephone

(B) on the telephone can verify
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(C) in verification by telephone
(D) being verified by telephone

11. Not until several years after a war has ended to feel the
severe psychological damage it can cause.

(A) do many of its veterans begin

(B) many of its veterans begin

(C) and many of its veterans begin

(D) many of its veterans beginning

12. Astronomers rely on measurements of mass and brightness to
determine

(A) how old is a star

(B) is a star how old

(C) a star is how old

(D) how old a star is

13. recover from the setbacks they have experienced in
recent years, the economy of the entire country would be positively
affected.

(A) American car manufactures should ever

(B) Ever should American car manufactures

(C) Should American car manufactures ever

(D) American car manufactures should

14. witnesses is forbidden in the Federal Courts of the
United States.

(A) Aggressively cross-examine

(B) Cross-examination aggressive

(C) Aggressive cross-examining

(D) The aggressive cross-examination of

15. The flora of the arid American Southwest is less varied than

(A) the semi-tropical Southeast

(B) that of the semi-tropical Southeast
(C) the Southeast 1s semi-tropical

(D) it is semi-tropical in the Southeast
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b) Part II: Select the one underlined word or phrase that is incorrect.

1. The most visible changes physical of aging take place in the skin.
(A) The most

(B) changes physical

(C) take place

(D) the skin

2. The Richter scale provides a fairly accurate measurements of seismic
disturbances.

(A) The

(B) fairly accurate

(C) measurements

(D) disturbances

3. There 1s fewer oxygen available in the atmosphere of Jupiter than there
is on Earth.

(A) fewer

(B) the

(C) there 1s

(D) Earth

4. Physical exercise has help many people because it relieves stress.
(A) has help

(B) many

(C) because

(D) relieves

5. People who want to improve their carpentry skills sometimes go to
special schools where they learning to build houses.

(A) who

(B) want

(C) where

(D) learning

6. The Swedish settlers who builded the first log cabins in the state of
Delaware brought their logs with them from their homeland.

(A) builded

(B) first
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(C) brought
(D) with them

7. The discovery of a new primate species, the black-faced lion tamarin,
will be formerly announced as soon as scientists have further evidence of
its existence.

(A) discovery

(B) formerly

(C) as soon as

(D) further

8. An invention's chance of being accepted depends of its superiority to
the method or object it is replacing.

(A) An

(B) of being accepted

(C) depends of

(D) it is replacing

9. The powerful, destroy force of hurricanes, common in the Caribbean
and south-eastern United States, sometimes reaches as far north as New
England.

(A) destroy

(B) common

(C) sometimes

(D) reaches

10. While solvent-based wall paints offer good coverage and sealing
power, they are most difficult to clean up than are water-based paints.

(A) offer

(B) they

(C) most

(D) clean up

11. Electronic games, much of which can be powerful instructional tools,
are becoming more and more prevalent with the proliferation of computers
in schools.

(A) much of which

(B) instructional

(C) more and more prevalent
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(D) proliferation

12. The long-term affects of the American Civil War, which split families
and friends apart, are still being felt in the twentieth century.

(A) affects

(B) which

(C) are

(D) twentieth century

13. The ladybug beetle is such helpful in controlling other, more harmful
insects, that it is often sold to gardeners as a natural method for pest
control.

(A) such

(B) that

(C) often

(D) as

14. An amazing variety of animals, by means of elaborate adaptators, are
able to thrive in conditions of extreme heat and dryness.

(A) amazing

(B) by means

(C) adaptators

(D) are able to

15. Musical celebrities from all over the world appear regular in the
exclusive nightclubs and casinos of Las Vegas.

(A) Musical

(B) from all over

(C) regular

(D) exclusive

16. Humans have a very large and densely brain in proportion to their
body size.

(A) very large

(B) densely

(C) in proportion to

(D) their
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17. Ms. magazine, which began in 1972, has long been considered one of
the led publications of the feminist movement.

(A) which

(B) has long been

(C) led

(D) feminist

18. It is wise avoiding overconsumption of alcohol because of its
detrimental effects on the heart, liver, and central nervous system.

(A) It

(B) avoiding

(C) because of

(D) the

19. The 1960 presidential campaign was marked by an innovation into
American politics — a series of television debates in which the two
candidates responded to questions put by newspaper reporters.

(A) into

(B) of television debates

(C)in

(D) responded to

20. Even when the warmest part of the day in the hottest season of the
year, desert sand dunes teem with Bembix, more commonly known as
sand wasps.

(A) when

(B) year

(C) more

(D) known as

21. Even although the negative and positive charges of isotopes are
identical, their masses are not.

(A) although

(B) and

(C) of isotopes

(D) their

22. It has always been thought that cell mutation is a random event
however, geneticists find evidence to the contrary over the past few years.
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(A) always
(B) that
(C) s

(D) find

23. During the early 1970s, the American public collectively has become
health conscious, turning away from the highly processed foods that had
been so popular in the past.

(A) collectively

(B) has become

(C) turning

(D) had been

24. Important news are now conveyed electronically from one side of the
globe to the other in a matter of seconds.

(A) are

(B) electronically

(C) to

(D) in a matter

25. Democrats had dominate the White House for five terms when
Republican Dwight D. Eisenhower was elected in 1952.

(A) dominate

(B) for

(C) when

(D) was elected

VII. Proficiency Test No2

a) Part I. Grammar: Select the best answer.

1. Juan in the library this morning.

A. i1s study B. studying C. i1s studying D. are studying
2. Alicia, the windows please. It's too hot in here.

A. opens B. open C. opened D. will opened
3. The movie was the book.
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A. as B. as good C. good as D. as good as

4. Eli's hobbies include jogging, swimming, and

A. to climb B. climb C. toclimb D. climbing
mountains mountains mountains

5.  Mr. Hawkins requests that someone the data by fax
immediately.

A. sent B. sends C. send D. to send

6. Who is , Marina or Sachiko?

A. tallest B. tall C. taller D. the tallest
7. The concert will begin fifteen minutes.

A. In B. on C. with D. about

8. I have only a Christmas cards left to write.

A. few B. fewer C. less D. little

9. Each of the Olympic athletes for months, even years.

A. have been B. were C. has been D. been
training training training training

10. Maria never late for work.

A. am B. are C. were D. is

11. The company will upgrade computer information systems
next month.

A. there B. their C. it's D. its

12. Cheryl likes apples, she does not like oranges.

A. so B. for C. but D. or

13. You were the New York office before 2 p.m.

A. suppose B. supposed C. supposed D. supposed
call to call calling call

14. When I graduate from college next June, I a student

here for five years.
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A. will have been B. have been C. has been D. will have

15. Ms. Guth rather not invest that money in the stock market.
A. has to B. could C. would D. must

b) Part Il. Grammar: Select the one underlined word or phrase that is
Incorrect.

1. The majority to the news is about violence or scandal.
A. The B. to C. news D. violence

2. Takeshi swimmed one hundred laps in the pool yesterday.
A. swimmed B. hundred C. in D. yesterday

3. When our vacation, we plan to spend three days scuba diving.
A. When B. plan C. days D. diving

4. Mr. Feinauer does not take critical of his work very well.
A. does B. critical C. his D. well

5. Yvette and Rinaldo send e-mail messages to other often.
A. and B. send C. other D. often

6. Mr. Olsen is telephoning a American Red Cross for help.
A. 1S B. a C. Red D. for

7. T had a enjoyable time at the party last night.
A. a B. time C. at D. last

8. The doctor him visited the patient's parents.
A. The B. him C. visited D. patient's

9. Petra intends to starting her own software business in a few years.
A. intends B. starting C. software D. few

10. Each day after school, Jerome run five miles.
A. Each B. after C. run D. miles
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11. He goes never to the company softball games.
A. never B. the C. softball D. games

12. Do you know the student who books were stolen?
A. Do B. know C. who D. were

13. Jean-Pierre will spend his vacation either in Singapore nor the
Bahamas.

A. will B. his C. nor D. Bahamas
14. 1 told the salesman that I was not interesting in buying the latest model.
A. told B. that C. interesting D. buying

15. Frederick used work for a multinational corporation when he lived in
Malaysia.

A. used work B. multinational C. when D. lived in

¢) Part I11: Vocabulary: Select the best answer.

1. The rate of has been fluctuating wildly this week.

A. money B. bills C. coins D. exchange
2. The bus arrives late during bad weather.

A. every week  B. later C. yesterday D. always

3. Do you where the nearest grocery store 1s?

A. know B. no C. now D. not

4. Jerry Seinfeld, the popular American comedian, has his audiences

A. putting too many irons in the fire

B. keeping their noses out of someone's business
C. rolling in the aisles

D. going to bat for someone

5. The chairperson will members to the subcommittee.
A. appoint B. disappoint C. appointment D. disappointed
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6. The critics had to admit that the ballet was superb.

A. procrastinate B. performance C. pathology D. psychosomatic
7. Peter says he can't our invitation to dinner tonight.

A. angel B. across C. accept D. almost

8. We were friends in that strange but magical country.

A. upon B. among C. toward D. in addition to
9. The hurricane caused damage to the city.

A. extend B. extended C. extensive D. extension

10. Many cultures have special ceremonies to celebrate a person's
of passage into adulthood.
A. right B. rite C. writ D. write

d) Part 1V. Reading Comprehension: Select the best answer.

I. Directions to Erik's house

Leave Interstate 25 at exit 7S. Follow that road (Elm Street) for two miles.
After one mile, you will pass a small shopping center on your left. At the
next set of traffic lights, turn right onto Maple Drive. Erik's house is the
third house on your left. It's number 33, and it's white with green trim.

1. What is Erik's address? 2. Which is closest to Erik's
A. Interstate 25 house?
B. 2 Elm Street A. the traffic lights
C. 13 Erika Street B. the shopping centre
D. 33 Maple Drive C. exit 7S
D. a greenhouse

I1. Date: May 16, 1998

To: Megan Fallerman

From:  Steven Roberts

Subject: Staff Meeting

Please be prepared to give your presentation on the monthly sales figures
at our upcoming staff meeting. In addition to the accurate accounting of
expenditures for the monthly sales, be ready to discuss possible reasons
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for fluctuations as well as possible trends in future customer spending.
Thank you.

The main focus of the presentation will be
monthly expenditures

monthly salary figures

monthly sales figures

staff meeting presentations

SOW R

Who will give the presentation?
the company president

Megan Fallerman

Steven Roberts

future customers

RSN

II1. The B&B Tour

Spend ten romantic days enjoying the lush countryside of southern
England. The counties of Devon, Dorset, Hampshire, and Essex mvite you
to enjoy their castles and coastline, their charming bed and breakfast inns,
their museums and their cathedrals. Spend lazy days watching the clouds
drift by or spend active days hiking the glorious hills. These fields were
home to Thomas Hardy, and the ports launched ships that shaped world
history. Bed and breakfasts abound, ranging from quiet farmhouses to
lofty castles. Our tour begins August 15. Call or fax us today for more
information 1-800-222-XXXX. Enrollment is limited, so please call soon.

5. Which of the following counties is not included in the tour?
. Devon

. Cornwall

. Essex

. Hampshire

oOw>

How many people can go on this tour?
10

an unlimited number

. 2-8

a limited number

SEeE-PRE

7. What can we infer about this area of southern England?
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A. The region has lots of vegetation.
B. The coast often has harsh weather.
C. The sun is hot and the air is dry.
D. The land is flat.

IV. Anna Szewcyzk, perhaps the most popular broadcaster in the news
media today, won the 1998 Broadcasting Award. She got her start in
journalism as an editor at the Hollsville County Times in Missouri. When
the newspaper went out of business, a colleague persuaded her to enter the
field of broadcasting. She moved to Oregon to begin a master's degree in
broadcast journalism at Atlas University. Following graduation, she was
able to begin her career as a local newscaster with WPSU-TV in Seattle,
Washington, and rapidly advanced to national television. Noted for her
quick wit and trenchant commentary, her name has since become
synonymous with Good Day, America!l Accepting the award at the
National Convention of Broadcast Journalism held in Chicago, Ms.
Szewcyzk remarked, "I am so honoured by this award that I'm at a total
loss for words!" Who would ever have believed it?

What is the purpose of this announcement?

to mvite people to the National Convention of Broadcast Journalism
to encourage college students to study broadcasting

to recognize Ms. Szewcyzk's accomplishments

to advertise a job opening at the Hollsville County Times

oW >

The expression "to become synonymous with" means
to be the same as.

to be the opposite of.

to be in sympathy with.

to be discharged from.

SRl Es

10. What was Ms. Szewczyk's first job in journalism?
A. She was a T.V. announcer in Washington.

B. She was a newscaster in Oregon.

C. She was an editor for a newspaper in Missouri.
D. She was a talk show host in Chicago.
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